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Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
eIy : g — I (e_ulfl-srayelus), ugad — I (2 uif-efsomhialusd) sl HHe
el SHHmeris0 allenL_WwerldaanLb.
Note : Candidate should answer Part — I (Bio-Botany) & Part —II (Bio-Zoology) in
separate answer-books.

Instructions : 1.

ug® — I (2_uifl-greyeiwev) / Part — I (Bio-Botany)
(wPiGuestasit : 35 / Marks : 35)

Jdfley — 1/ Section—1I 8x1=8
@iy : 1. DiOMSSH el HEnbE@GD el ieisaab
2. QETEdsUULL HIeE elmssie Wasah goumLw slmLaws CHTbosESHS!
GO GLar el ullenaiyid CairHEH QBIB.
Note : 1. Answer all the questions
2 Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
1. £pampelapmst SHH D B CUESBSHE DwpseT isvev?
o) 2_®meunsauUGL HTEUJBISBET PHD LOFLIGIFTT  LIGWIL|E6meNd QsTesIgHEBE LD
o) SUTWSIHDS o | LBSBILLBETeT SHTeUJESmsT QUEHHSWMLWEF GFuIwL (PIQUD
@) dev FOWEISETD a@HUGHSSTS JLGDI WTHRIEET HENLGLIDIEeTBeT
) GomiGembp HTeUJHIBmET o HAUTHS (PIQUiD
Which one of the following is not an advantage of micro propagation? -
a) Plants produced are genetically identical

b) Endangered plants can be propagated
¢) Sometimes undesirable genetical changes occur
d) Disease free plants can be produced
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which is the set of fragments obtained by the action of Hae
5' Ggees!
3'CCGGs! [ 2
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Q) si RNA-éasir eilenaneubel  amLELOLTHeT, Ssseuren  RNA SITeRIL O
CeusiUuT oL sunss HGEGL i 6 siemwimer RISC @ed QEFIHSULGSsmET
®) (o) wbpw (1) Qyemib.
) CRISPR eigib wyugmisney Frouflepswné@nd o usyeamib BrréslILBEDEI.
A simplified model for the RNAj pathway is
a) The trigger RNA is processed into a short interfering RNA by RNase II enzymes.
b) si RNAs are loaded into the effector complex RNA
¢) Both (a) and (b)
d) The gene editing tools such as CRISPR can be loaded.
4 Sbagamanps sy gam Gy ~ONCUMESEAe Filumen Ligenavesei?
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Which one of the following is the correct steps in the direct embryogenesis?

a) Callus
v

Root induction

\
Plantlets

\
Hardening

v
Transfer to field

c) Callus

v
Multiple shoot induction

Root induction

v
Plantlets
v

Hardening
\

Transfer to field
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b) Explant

Embryoids |
v
Plantlets
v
Hardening

¥
Transfer to field

d) Explant
Stem
v
Node
multiple shoot induction
v
Root induction
Plantlets |

Hardening -

v
Transfer to field

5. dpaumeusnaupenpll QU

m;Hd eflwmrer slenLenwids HTENIH

(i) usenwé @mue - (A) Qapnfsy fHwnes 2 GarssILBL
& s1p@also CFOGSILGD STTLEN

- (B) susfloewiie0HEled BaSEILGD SiTueT _
- (C) Ggmeoguulin gsy eflCUIGaTS BFAdsILGD  Srirue
- (D) 2_uiliiés BanenpPled BFASSILGL SriueT

(i) &mbusy L6
v (fil) Pev: et
(iv) uepiy sritueH

ol

163



http://cbs.wondershare.com/go.php?pid=5261&m=db

" @) () B (i) C (iii) D (iv) A ' ) (0

10.

1L

[Pas 12.

s (l“) ot A ¥ PDFelement
p (@ i
® () B (i) A (i) D (iv) C t :

swer t
Match the following and find the correct ans od fores

(i) Green carbon - (A) Carbon in induslr;ﬂ:;

(ii) Grey carbon - (B) Carbon in nlmt.‘-'SP ) |

(iii) Blue carbon - (C) Carbon in r:?ssul rucc a

(iv) Brown carbon - (D) Carbon in b;gsp:;)cr(i)c ) 5 (I::; g @ 4

:; ((33 83 g E:g g ((::; é us D‘ (]l)&lcm:i:mrrf_@ Q’)W_G“D'Lb?
lsiTe L

. : iy QW ‘
Spapasappst abs gep @bHTAIL <) gp@a et &
&) IR, .Cut @engsT e g
®) OFmeorend enp&ID _ _FF) ecies?
Which one of the following is an alien invasive SP hhornia crassipes
a) Mangifera indica b) Eic
¢) Solanum nigrum
Sgpm (A) : srw afloss Gxteler

d) Zizipus jujup?

» Gupouil 87 soras 987 a?frg;eir@w%
sULD

DPBOTEE OBTERIYHED D). _ _ g‘;@w@@ AeUELMmSSID W
smemd (R) : uredeor @emiCUmSSD -Q{ngammm

grwaflenss Cpiey srahsst o HBusd Geunuiub o e (R) &

o) (A) &f; R) soup 2 F(k )ﬁ- (R’) - A - ow

&) A) &f; R) —A - ow aletssealsdamso ) (A) &MM;

sl @) ) ;
Asses%‘onma) : A variety formed by pure line selection method shows more homozggosiy

with respect to all genes. . !
Reason (R) : The pure line plants are produced by asexual method or vegetative propagatiog

method.

a) (A) is correct; (R) is wrong b) (A) 1is wrong; (R) is corrf-:ct
¢) (A) is correct; (R) does not explain (A) d) (A) is correct; (R) explain (A)
615 G6T WALV LipLD?
) LT &) ueor @) eumenip F) omilg yifen
Which is the temperate region fruit?
a)Mango  b)Jack " ¢) Banana d) plum
difley — 11/ Section — 11 4x2=3

g8sgid b6iE alamssenss, sllenL Wb,
Answer any four of the following.

Bresp O g e it &(HLIsnU
2-GUTESESA00HE GoupLGees s,

. .

LA 8meh 2 Hugsuley OBTLir g
PLL UL
Dra;; the flowchart for triticale production
SIGCITUTgGIe A QUBIBLAWLGHEN D Bmé
] - JUGRI Lo - :
CoweLBBpg. BEIET snyamgmps otidgs, " O Bbe g BLEHUE

Agrobacterium tumefaciens js 5 good vector in gen?tr

BHmg, D)) E:3

ansfer, State the reasop for it
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E
why do we add dimethyl ; | ’
pbieneoutliLied umﬁmz’“ S;:E‘;:;‘“% glycerol or sucrose before cryo_pr_cscrvation?

4 BF )
write the ecological hicrarchy .
. . Wfley — 111/ Scction = 111 | 3%3=9 i
g8p@I> LI slamssensg alomLwel oepfis el mmﬁt-lﬂ&@ BLLMWIONS '5

e wefleboa]ib.
An.swerl any three. of the following in which question No.18 is compulsory.
55011(3}]&1.16&@ WDFUERIEEST SevlLgsieme. pamean elledbEHS.
The different coloyrs of flower Miabilis jalapa is the result of blending of phenotype not genes )
themselves. Explain it.
(6. GeusTbLiTeN @Li)uﬂG}UJ@Uu Bangemen ai6dlam (ELISA) Bsngmeanenw 6ié ADHHD e’
Western blot test is more perfect than ELISA How?
17 o_uiflwed G BHBTLIQSH6T 616NpTe0 6cl6Hen? Qi aBoHHss6 505
What is referred to as biological indicators? Give an example.
18, Sb@TeURESs GBE sLshEasy oBFTer @B HeliTss PYWID o _uifiend g6’
Now a days Azolla is an inevitable organism in paddy field. Why?
1. g,tﬁ@[r;n@ S, CLiE sniFsFNse Hotaubol 9O HHSS
@6l LOBHIA PEBUSSUSDS GBI
TN Govt suggest Nilavembu as a medicine for Dengue. Write its medicinal importance.
2%x5=10

2y BeonEemet ganfujsiiend

Gfley — IV/ Section—1V
S STEID oo EHHS eflenLuisTdeHaD.
Answer the following questions.
20. y&FdHEHD g,rrsur,rréus@lb @enenihH! o Lo o 6wigmid
GLopEEN 6T1& sBE @ ABEHBHESTLBLE @smen aleNHGS-

(Si606VE!)
emilil LB@ID efeumsy  DIDEFRIBENET m@%&&nL@m@Lsﬁr

Beney QUMPEMBEMU

Oenemmiden B meuensSenTel Bem

slensE . _ o

Insects and plants are leading commensalism type of life.

(or)

Explain coupling and repulsion aspects of linkage ?vith the help of examples

21, eupemIL @m&,gmgrﬂmaﬂs&r UpHeHTHD HHAIEIOLIL|BDET  STIRBID:
(a{mm@) . . . ! “
QW G0 LOGRIL VG BI6N LISV Hemev g_mug,ﬁg,ﬂmm&mcmu u,r_r)gﬂl aﬂsfll&@&
Write the morphological adaptations of xerophytes. g
(or)

oductivity of an ecosystem.

Explain it with an example.

Explain the different classes of pr

-1 (p__uilﬁl-aiwﬂ.ﬂujsi)) / Part — 11 (Bio-Zoology)
(wPHLCUEHEBST 35 / Marks : 35)
Afey — 1/ Section—1 -
@diy : 1. oIS oS EHHESD eflenLweideab
7. Qen@esLULL BTeT& e asien @D FOHLL slenLenwd  CHTHOSBHS!
@gﬁlu.‘h'.@l_s&r sflent_ulemenuid CarHel DS, ST e .

uGH
8;1=8
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. Note: 1. Answer all the questions
' 2 Choose the most suitable answer P g P g
option code and the corresponding ansW —gouwi ppHw me}m},‘v?
j & dgtpsu@sumsnmmlm abd @em STOyD ALC] IUD
s:u_rres@u.lw?
o) Do SIEHILD MFLGBevg LisvelaiU
Q) oiEasst solmULigsT 20 a;sum(BE@&'@
8) owmesst elpg Ossvedsn poreney LsvaIEILL
%) omass spamss bppb SEipLOL B-55
usvelerliLG S EHId eimen. [UDs?
Which one of the following is true regarding copper releasiig
a) They suppress the ovulation

b) They can remain in the uterus for more than 20 years
c) They suppress sperm motility
d) They suppress fertilization and conduction of zygote-

W FTSmye  (Suw
2. 96 afGoriedwr e, (Bgmrrewrrswasau ogL]  SievOIY 9..;9;56" i@mu@ ggm
Cueiiensm  wemEADTT.  SEEEmEEN | LnsGD  G¥D o4
ETHHEFMSET 2_6iTenen? .
O) QYEBET (LHEHBE) FTSTTOTENCUTESST .sa,smrrﬁﬂ Quaian (0msiae)

from the gwe

- ,
o p -
QLoeoTd @@565 (PIQULD T

@ﬁyéﬂﬁﬂﬂl”
uu@ﬁ” ;95@611&6"6“

LTSI @ 66 e a6l
&) DEHBET LTHLILSSETeNaTeUTEs, D60 LOE6T BN Err,&’:ffﬂmm"ms’”&’m"&‘
B\ mluTTESsT.
B) wEaIHET WHYID WEHMET BBHAGED FTHMIERIOTAICUTHENTE @@gurriraasﬁ
)  LDB6IGET M@ asiEsT Bmeamsn sTaryemnataTaamTe SEUUTTSET Qe
&eitwsit GBTUIS SHTRdsennas BmULTTess.
A haemophilia man marries a homozygons normal woman. What would be the possiblk
condition to their children? .
a) Sons would be normal but daughters would be sufferer.
b) Sons would be sufferer but daughters would be normal
c) Both sons and daughters would be normal.
d) Both sons and daughters would be normal but daughters would be carrier.
3. UAA,UAG wpg> UGA g8l epuibseiar Garirar) Gawed QLT
3l) PpHSe0 CHTLTEIBHEN 1) G!urr@mmg; GaEML e siy
@) (&) wppD () F) OBTLés Gomrerss:
UAA, UAG and UGA codons are designated as
St 2
a) Stops codons b) Non-sense codons ¢) Both (a) and (b)  d) initiator codors
4. dpsemaupop GuIms® sfurer almLmLE ST
(i) smeoFm - (A) enwaBar urdefwiip
(i) enL. .UM - (B) alufGwm
(iii) @Ugfwm - (C) erirdlefwim
(iv) yBurafs LIGems - (D) Ganflefl unsefwid :
ooa) (i) B (ii) C (iii) D (iv) A b) (i) B (ii) A (iii) D (jy) (;
c) (i) C@)D(ii)A(ivyB = d) () D (ii) C (iii) B (iv) A
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i Ko

the co
. Cholﬁl'a . ITECt answer
L ﬁ)lj ’i"}:phOid | Eg;-Mycobacterium A
R, - (B) Vibrig |
i) g!:hfh_e“;l = (©) yersinia
.\ Bubonic Pla y
(iv) gue (D) Corynebacterium

) ()B @i C (i) D (iv) A
p) @B () A (iii) D (iv) ¢ "
o) ) C (1) D (iii) A (iv) B
g @D (i) C (iii)mB (iv) A

DeV(mHEUEITEUD DI
5 g‘fﬂj@&&.l%mrrah@un?ﬂs;ru O et

BEnisEEULTINS §BsH

efleroad ) s
& GTUG - Qiﬁ"ﬂﬁﬁ@mﬁ@LUf_L By eng
L I I - -
®) L lgf.mmsn Q556 GEnsEeETed i GMBSHL
§) GUUT Ud

) BlauCuflw y&d I
Which one of the following is correct pair?
a) Cyclosporin—A -

) immunosuppressant
b) Whisky - fermented grape
) Statins - lower blood glucose level
d) Super bug - Giant insect -

6. 5-!!3031 (A_), : GNSHJENIDTS SFIHGD Beiaeds mLwLIgen QsedLed - MWD FTSS DS
smemid (R) : Qacvae, GansGstamm aBsgd QTSNS gimeniLféma
o) (A) &fl; suemsd (R) seum

2) (A) pam; ems R) & \
@) (A) wpg (R) Srem@ew gfl ayemsd (R), A-emwl silenémals0snsv
# (A) wpg (R) @yem@e #f (R), A-eow ellendb@GHDE.
Assertion (A) : Normal secretion of insulin prevents diabetes mellitus
Reason (R) : Insulin facilitates the cellular uptake of glucose.
a) (A) is correct; (R) is wrong
b) (A) is wrong; (R) is correct
c) Both (A) and (R) are correct, but (R) does not explain A.
d) Both (A) and (R) are correct, (R) explains (A).

1. srdgher Gadu yusT B35 o WIfEBPPETE LTBISTESILLL UGS

BHTeTL Tl HESLD .
e National Park is protected area for ;

I;)aﬂﬂl bR b) Elci:phant c) Tiger d) Homned Rhinoceros
i T - Bana Spuenu gHUGSSID GuT@mst Siede?
__ . i‘fmﬂ;bﬁu%%?mgﬁugm &) sniuet GLLITEG8smTenI®
@) aam Gyr @GenGyr LBTEIT LGS %) opLjed bl
i 1o is ot a ozone depleting substance?
' gﬁgﬁﬁecﬁf;r:fiﬂmw g b) Carbon tetrachloride

¢) hydrochloro fluorocarbons d) Nitrous oxide
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EI \fley = II/Section—1II 2905 (e ;
: geH@ID BIeE alameEsendad alamLwelssa. g
i Answer any four of the following. )
.1 9. eBUIBTBsnuIL Baefledmba WRITGaTuiL Baemen GapLBLSI® | . ;'
| Differentiate merozoites from sporozoites. | oot OBINUGSH gy
10. albaOssd o GansssHDE, elmsumuwrad YO Ak
i QFwebuGSmgl. ge? ) = Aok
? Scrotum acts as a thermo regulator for spermatogenesis why? . f
11. gflumged — B — uiar opignsma awss. ;
Write the symptoms of Hepatitis — B. : "
12. Qupems Gauemmeiawuls (o obsmss gBSEID BT
Write any two key features of organic farming.
13. gefFeniiwssd a1 Sepsslu@Gag Wrg?
. What is called positive phototaxis?
14. yevatueiwnsd ghudb o uiflu elmerasamen 6(D5HIS
Write the biological effects of smog?

Wfley — II1/ Section — III _ 3x3=9
9esmIb weaim elamssenss eloLwel b efleam aemH-186@ SLLTWLTS
allenLwiefléasa)b.

Answer any three of the following in which question No.18 is compulsory.
15, edGuUTol GLiCgeflenfierd - g GEIGn &HHS MIULLD sumIsH

Draw the diagrammatic representation of spermatogenesis
. 16. 96 sredibur oPpp CUIBHTTE@EE, STRAOWT GEbMS LIDsABE. STedbur
i CamaipioughaTe sTeAUbGHmDIBMmeT alsTbaa|ib.

1 A thalassemia baby is born to a normal non thalassemic parents. Explain the possible causes
'. for the occurrence of thalassemia. .

J‘* 17. gﬂm@ Ceed ddlFems wals S ETVSHMS  BHLI9&ELD. B emer SHHSSIH  (PBWIT)
; (G B.

Stem cell therapy will increase the longivity of human life. Explain it logically.
18. 2 _gall Gupd eumpsanaulledhbg LTS BUTDSem6V CaupBsgis
Differentiate mutualism from commensalism.
19. gally Gewennewieno, £ ulflunt Uedeumas Heienin GDDEUG!  eTeleuTy?
Intensive agriculture results in reduction of genetic diversity. How?

Wfley — IV / Section — [V 2%5=10

BPEETEID 6 eNTEH EThbE, olsnL WeiéaE ey,
Answer the following questions. ' '
20. GarhmLIBm CUTHMeTE SILBW o _Salw geur

aoama@sisht  DNA, Grevs o@Edlem Q i g
aaumE ellendges? Emsﬁ@mm&’@ Slesgenons  elenkigHns
Explain the transformation experiment of Avery et.al,,
_ (or)

Sate.ll:te DNA forms the basis of DNA finger printing, Explajn?

21. amrig ~ elaiOuTs Qatensnamulied SILBISW6Ten  Enyenfser WiTeney?

. . , (V)] '

ubm GETOWS SEILAD BEmibsEULTHMIE Lkdeen ol
What are the assumptions included in Hardy Weinberg Princj

: (or)
Explain the role of immunity in prevention of cancer.

Slubens  eflenéee:
b (G, b1
ple? Explain them. : .,
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20 / | '
b ey @’ “’/'“"_e' question paper 2019-20-(2)

. e N Higher Secondary Second Year i
1S BBLmimen 4 3,

. A / Tamil ang English Version) :
_ 6ol
: 15 minutes +- 3.00 Iy

Gurdhs wALGUesIEsT : 70

- . Maximum Marks : 70
il ;'ﬂ;“"mll Ugleurn ) 2_6NENET  eeiusmen  sAlTTHEId
. "Gl ﬁ“ﬁu @mmum I.Jmﬁﬁ]' ’ . : ’
;_Lsmlqmrrmg, OaNeflsamnp, @ D5 BesTeRLLTenALID
O (@60 :
e gal) fﬁ@.i-ll-l wulener 1o GG SIURBHINFHDGHID DI9sHCHTYBSDBESD
Check 111: IO, LLtissit svengaupig Gusidied LWSTLGHBaD.
" question paper for fairness of printing. If there is any lack of faimness, ;
inform the Hall supervisor immediately. _..
U : ;
se Blue (or) Black ink to write and underline and pencil to draw diagrams.

uUGHH '- | (Lu_ﬂlj]-g,rrsugsmu_jsi)), ugd — II (2—ulfl-elleonudlusd) HelHaHe i
sl HsmeMsh sllenLwield ey,

[nstructions : 1.

2.
Uiy

Note :

Candidate should answer Part — | (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books,

ug@ — I (2_ulf-preuyeluwist) / Part~ I (Bio-Botany)
(o@LCuesiasit : 35 / Marks : 35)

Ufley — I/ Section—1I 8x1=8
G&ilY : 1. SmebHFH NeTdseEns@GD el welssea)n
OsTRGsLIULL BTG elmLsais) Waabh gpymLw slmLows CxThesBHH
SR GLer sllsnLulenenujd Cairhg 61(QHiIs.
Note : 1. Answer all the questions
7. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
i 6l j i iU ' \ 53 WILD?
1. & BoeiT 6T gm ero@UTGrTOUTeS a6l ug}gﬂm 2_GIEIOWEIETS U o
allgmgbﬁéfnsggmn@@umﬂgﬂ%@ D_(HEUTED waIhessHieeNe  mFlGuriemmsd  whmw LD
WA o Al ) ‘ o . . .
o) @& WEIHHHHIGMEN dfudss oufad S1eesHMmbhE UTgsTILSSDE!.
@) eroBurByrOuredafie, -+ euBsmIsdsisaled®mbe CuDiLLL &
#)  Oasogulin qmﬁ,ﬂumsu.mmﬂsh WEIHHHHIGET HRIL STV UTHISTILTS BBSs @&
2_56|EmH! ' - .
Which fne of the following statements 15 not true regarding sporopollenin?
a) Sporopollenin is contributed by both pollen cytoplasm and tapetum

b) It helps the pollen to withstand against strong acid
¢) Sporopollenin is derived from phycobilins Ly | |
d) It helps pollen during long period preservation in fossil deposits.
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mm Wondershare
e A —— g Wondershar

' ser 2 WDy ay, |
SMTSAD  safl  eugeud  LOHHID giqﬂgﬁg;ﬁn_mb LD&HEY&F Eﬁﬁﬁlﬁg §
UN”5@§QWL—GW B Beue s seoly Qausned, 216G ’ %
9:3:3:1 .SIGUl@jlb Umﬁeﬁﬂﬂ'im el g 1b L@ Lon? | e Ty
) Y, GO imeumsh gniden) @EmED TUEISSST

) BON0  Bieneum 6T enemriu e L LOJ UG 6TT P SO 2

) s, DAY T TOTE: ] Olsusk Beugy) @GUﬂ@m”@g"m&'G‘ﬂm aq@lﬁ.ﬂi @GHGITT@-‘ ol

¥) @6benev, mibiomen Bb> Sren UeRIL B eSS LB BFmHEneISe G&wu{; @pu;u.lrr@

If you do dihybrig Cross in Pisum sativum on the traits of i:od shape and plant-height, Wi You
get 9:3:3:1 ratio in F29?

a) Yes, because they are independently assorting genes.

b) No, they are linked genes,

¢) Yes, because they are situated on different chromosomes

d) No, we can not do experiments on these two traits.

BpaumasTsupanmL) CUTHSS slwurer sl enws @res
(1) CQussi_n@smaA - (A) — 2n2

(1) @ enL wBer@sma - (B) — 2n+1
(iii) BeLEICeFmA - (©) = 2n-11

_(iv) 196wy GamiA - (D) = 2n+3

S) () C(i) D (iii) B (iv) A @) () B (i) C (iii) D (iv) A
@) () C (ii)) B (i) A (iv) D #) (1) D (i) C (i) A (iv) B
Match the following and find the correct answer

(1) Pentasomy - (A) -2n-2
(11) Double monosomy - (B) -2n+1
(iii) Nullisomy “ M)~ -1-1
(iv) Trisomy - (D) -2n+3

a) (i) C (ii)) D (iii) B (iv) A

b) (i)B (ii) C (ii)) D (iv) A
c) (i) C (ii) B (iiij) A (iv) D

4 (D (i) C (iii) A (iv) B

. Bt 58 _(A) g Laweiin

658 2 _meurdasii . @ B) —g :
SSHMTULSS6iTenio O e g). - % Bl — %6 agpns Gpnu
3) A — a.Gsemen, B — EmEUT 6T
Q) A - evaugerd, B — urseflwimdsei
@) A - SiBCyTurSeflun, B — uT&leeverd
F) A — SisGITuTSefiuw, B — lej](BL_rrU@Lgrrsﬁr

Bt Brinjal is produced by using A and is having resistance against B
a) A - E.coli B — Virus o

b) A - Virus B — Bacteria
¢) A - Agrobacterium B — Bacillus
d) A — Agrobacterium B — Lepidopteron
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&)

=

¢ aLJlPR aRILG  DibHG 2 BUSALCUIGET Gty

5@5@'&&.61!@@611 6”:.55 EEEIEH IPR uj Wondersh

; - i s (] s : ) _ g A are

&) BTN GoS gm®mmeg;$95gEm£uz ,ﬂz;r&ﬂm?? . T pordement
D D_6ENGI

DLEATED SIB6  6uenila TEAUSDE s phETenr Qwesipempanil o oL HSWS!

) IPE@; é?iiﬁﬁ' BILQST FLLBGOMTSO LGS a5 B8
sendUligluTeni ;

K WRTLGHSE Gmiﬁ“@m?._m EHGUgumL  pear  Gorpp  POINESHDE oL GEw
weii EVTLD Qiemsd Sieut Dimg WppATEEGEG aps CHUTD.

which one of the following statements is true regarding IPR?

~4) The discoverer has the full rights on his / her property

10.

11,

12,

b) IPR =' includes only the process of the product not trade secrets.
¢) IPR is not protected by laws framed by the country |
d). The dlsco.vere.r cafl use his discovery for his own company but can not sell it to others.
Lpanaaappst abs gap 2 uifl yidés Csrsved?

o) SGaTeLN @) eyGemiwb @) Jugedfuwm ) Gamelw
which one of the following is a bio-pesticide?
a) Azolla b) Rhizobium ¢) Beauveria d) Hevea
gpapaeabnst abs gaim sfubs @eem?
o) wegst - GG
&) geudsT - BoiosmEUTGLSefler Frewni
@) yuur - @amyenm
) UMD - @pHwnelen Cpdlwbsef
Which one of the following is an incorrect pair?
a) Turmeric - Erode
b) Cardamom - Queen of spices
¢) Rubber - Kerala
d) Banana - National fruit of India
Spoumeueneupms S1HS QeI LDEhFET SLDTENE CrpTlbE aFHITHEI LWSLESSULGSDSHI?
o) HeoBautby o)) guuiwb und @) &EhET F) . LI6060THSHETO
Which one of the following is highly effective against jaundice?
2) Nilavembu b) Opium poppy ¢) Marijuana d) Phyllanthus
9fley — 11/ Section —II 4x2=8

g8H@ID BTG el HEHDE il Wl bBa|LD.
Answer any four of the following.
ApevGBanp  Geusnmet HTEUTHISBET
Cougul_Leneu ereusurmi?

Molecular farming plants are different from natural medicinal plants. How?
GHBW SHTeuTH Fol_LMigeME  LDEWILEV ULSSenen susn]e

Draw the diagram showing altitudinal zonation of vegetation

L@l Gwewsmpuls) 2aleT LPEnevEBEeT 61(DGIS

Write the steps involved in the mechanism of decomposition.

2 UM o_gworeF GaFwsoUBD snyBamiwbemD oGsTeoralLl@bH CaupuBHSIS

Differentiate Rhizobium from azolla as bio-fertilizers.

@ueoumer  @GHSIeN!  LWeN greuriseaisiGhe!
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15.

16.

17.

18.

19.

21.

R = mm Wondershare
’y I H  PDFelement

WDILgRIGn@I 6ueTD . B a&ifl g 560 STeDITey GT6EN ! i
What is known as germplasm collection? '

& .Uwiler Lweisenst ST(D&HIS.
Write the uses of coffee

; 3x3xg {
. ' i1-188 &L '.
9oy — III/ScclIOﬂ“”I[ﬂG\'J, oo - 1SS Sy

ICHE@UID  apsiry olembaensg eoleLwsi D
silenLwefldaeayib. Ay 18 is compulsory-. oy

Answer any three of the following in which question P ALBHBD  BEUTE '-Dﬁnira-,%
LIDD  GOSEENE  peremoileohs  LIRDDL B
Copupsais.

Differentiate heterostyly from herkogamy ' srusud
®USD FTgaud Hreuy wevisels pmsn Holsst GHTEWD
ellena: . . the flowers of Pisum sativum,
Explain the role of genes in the formation of purple colour m. - uSUUBSSHID

SO o _uiif 2_M60&606M60 (QBTHH5H60) .{gmmasn?r}sﬁlwr BLBEGWD? oo
LWSTLIGSSULLTEI LTsd @gmsimpid o fHusHd OuImL e LS joreactor), what would ha

If the upstream process is not done for a fermentation process (Biorea ’ e
to the product? .

CIUEDI Gpmens sypmiiFdlullsh o eiren sypwst UjFdemensmen ULIQUINIGS.

List out the ethical issues of genomic research o

6 GO Wi 58 @rEmass BsdameGwses GeTa BHLBEGD?

If crow is absent in an ecosystem, what would happen?

60 LOJ U@lﬂiéﬁﬁﬁ]aﬂ ur'ﬂ@m&

Ufley — IV /Section — IV 2X5=10

SPSBNGIILD ollenTéb & 6T 3 allenLwieril e,

Answer the following questions.
2ASW, Gluswr Gaibl Gmsir Bevemailen menL Guigi BlCUmSHD BEHeyBT SQeLCLmESD

I SwPSEILGENG Bbs Wonwlds o msEsnE UYOUHMBHS F([Heb.
(Si606VG)
8L Quwigsd BTG ML T 7 @g}]&@&mm_&@aﬁl@ﬁ)@ eTeueuTm  Geugul Ly
SIILENS 61l 611eh .
A reproduction without the involvement of male and female gametes is called apomixis Give
an outline of this method.
(or)

Exp‘lain how translocation chromosomal aberration is differen; from crossing over?

(i Iyé ' Bl : . ' ;
g:gﬂ &%;;:Q wfﬂf};ﬂﬁ;ﬂﬁ;ﬂ% BB Db 806 LU Qauliy  Heeoud

Qm&u&,@u&{ STULGEDS). Ll @suuumsmL,&smau sileun )
Topography influences the climate of an areq — Discuss, -
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1 USE = 1 (g_yg _ _
Prafovtuiust): | Part - 1 (Blo-Zoology) -
(AR UIsr g6y '

+ 35 / Marks : 35) = |

ey ~ 1/ Secti |
DISIBH e s ection ~ | gx1=8 |

B(6Th e (i, ; .
2. QaIBHB@OILLL EHEGID efentiwshdbmen |

e Mem_mesd e
g b D GDLEIIL eI epHHBHD!
GO G olemLufsi iy Bestr gy _J

Dl SIUREI,
. Answer all the questions ¥

—
-

efiH |

T—

Note .

Choose the most sui
most suitable answer from the given four alternatives and write the

option code and the corresponding answer
i JenmerdGonBLml eraiiLg

o) 9FB 2 La® OunGrir Werephy) BB e 2-Lmm 2-uifwrss GHIABIBN

ue 2L SHH2_enL : : ' ; ' '
. Gﬁnsilmlg,si).@' W Qupprr  deteypy  GyenB @oap  2-LEHB 2 Wifluned

@) uev 2_L&[H2_mLI G\Uﬁj@m"h L’i]m-mlm . \ z 3 :
: . o us @ieng 2-1Lmp 2-uifluish CpreaADIBNY:
f) U 2 L&G2 LW QuiBprt Wsedp UM 2 L mm2_eLIW L WS 2_ulfl@mnss

GanepIHe0
Plasmotomy means
a) Mononucleated parent divides into two Mononucleated individuals.
b) Multinucleated parent divides into two mononucleated individuals.
¢) Multinucleated parent divides into many mononucleated individuals.
d) Multinucleated parent divides into many multinucleated daughter individuals
2. dpsaiLapomp Cuimsd afiume e enls SIeHsH

(i) OsnGeomflwm - (A) 10 - 90 BI &GN

(i) b - (B) 1 - 8 Lo05BIGsI

(it) WpOyDIiY HESSET - (C) 30 - 80 BT

(iv) afumgged - B - (D) 2 - 5 BOL&ET

) () A (i) B (i) D (iv) C o) (i) B (ii) C (iii) D (iv) A
) (i)C(ii)D(iii)A(iv)B #) (i) D (ii) C (iii) B (iv) A

Match the following and find the correct answer
(i) Gonorthoea - (A) 10-90 days
(ii) Syphilis - (B) 1-8 months
(iii) Genital warts - (C) 30-80 days
(iv) Hepatitis - B - (D) 2-5 days _ : ;
a) (i) A (i) B (i) D (iv) C b) (i) B (i) C (iii) D (iv) A
¢) (i) C (i) D (iii) A (iv) B d) () D (i) C (i) B (iv) A
3. gm mRNA, o I &(mHaled(HHS! QeuamBw su@mg;gb@ (P& SiBeH  STULDDUITES (A) b
o5& (B) eumed UGHWIE RNA -1b @siibsULBasiper.
o) (A) — ATP
(B) — ADP o
&) (A) — Bamzed @aunGaTen g et gemgumerbBUL
(B) — Sllgenemevl G HIGET : il
8) (A) — L OIgemEIeL @eunGaeng & enLumaGuL
(B) — @aunBanmeng el GIE'FHrt'aIEBGTT .
) (A) — aienge LBEHE mmgurrami?uu_
B) — baged GBI 615 GTRIEB6T
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: 'l mm Wondershare

Before coming out of nucleus, in RNA is added (A) as capPing _ AT
a) A-ATP : e -
- B-ADP
" b) A.Methyl guanosine triphosphate

B. adenylate residues
¢) A.diadenylate guanosine diphosphate

B. guanosine residues
d) A.ethyl methanc triphosphate

B. methyl guanosine residues,

. m@Lb?
- Gmipfedeor Bpmuseaied a1 @pripETen e ST ALTES
Sl) eIy &) UbHBITHLD _
8) aigad (aGeust) %) LppGpns (Bseinsh) ot
Among the non-infectious diseases, which is the major cause for '
a) Heart attack b) Stroke c) Arthritis  d) Cancer N
- SeumaISTIBIIET eig o_ufit Qe AT é_lpbaﬂll{ 2_auenlohp
S Guealdefer 0 Yehms Oareed el SHWRY . s OLIT(RET
) CLigranssalsr @@ urhs GeweTe o atam &ujrruj@g;?ruu@%n(ﬁﬁﬁ
8) L OIBL renwdleq B Iy GFueTHB 2 66T 2 "@ dierd 6D
F)  GBemGIOLL mrensaela, sor GriGLramwdled gyfGunGuAW
Biswiguifled mb g GUBLILL Lg). Lo
Which one of the following is not true regarding antibiotics?
a) Penicillin is a fungicidal antibiotics.
b) Tetracycline is a broad spectrum antibiotics.
¢) Streptomyecin is broad spectrum antibiotics.
d) Chlorotetracycline is obtained from streptomyces aureofaciens.
- 96 ffw  DNA gL GuesésLoLLs  Qsuw b% . GFSMPOEIL Lsmg
LWSTLG SS60MD? '

3l) PCR Ggmfsomi Lib <) NMR Gsmflsvpi Lib

8) Fa @Cmains CQpmpsopL Lb ) Wenmrerowor.” . Gurfdlerd OamfsbEit Lb
Which technique can be used to amplify the smallest DNA? |

a) PCR technique b) N MR technique

¢) Tissue cloning technique d) Plasmaphoresis technique,

- POUDTET Renamenius sauELily

o) @bFHw uTensVsUEILD - GRS

Q) Bowiomsvdg e;ruurrsb} - BUTE@GBUT 6rdLTlg

: 2_6ieN UG Haseit

D) Copes Goicdomn - aypgy dr8se wss wggu WrCs5 susny

) aLdlose @bAum - @b - wBawr - » Y9 - Holuflwied Liged

Find out the wrong pair '

a) Indian desert - Gujarat

b) Trans Himalayan - Lauhala spiti =
c¢) Western Ghats - Andra Pradesh to Madya Pradesh ) :
d) North - East India - Indo — Malayan bio-geographical region ]
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§

|

|
et
AR

AT

IR

10.

11.

13.

14,

15.

pp A+ S g5 o

: BT Qg
amb (R) UGy, O UTEUD Udadsten e Spuonaad
&7 P ETILE efeun : : .
B &aa "G U g5 o001 ;
Sl Qﬁnmﬁﬁlmm ) & oiBs oene gbmImenen
o) (A) sam; (R) af ' _ i

8 (A) oBmd R) Byey o W (A) af; (R) pouy

Assertion (A) : Forests gey X ") (A) whmb (R) ByemGid BHeoum
. CN Sinks and heq
Reason (R) : Forest animg)g consume lot o gl L

a) (A) Wrong; (R) Correct loxygen for their respiration,

b) (A .
¢) (A) and (R) are correct d; ((A; S:;r:;; (R) \;/Vrong
are Wrong.
) Ufley ~ 11/ Section — ¥
geHEID BT a&\mnm@&@%mmsﬂ“m" I 4%2=8

Answer any four of the following
umlﬁéimnafa&sﬁ @mmmﬂ.m Cungl smagip e Ggraimabseme, BoUTDID
@™ B uteden BemiIGLmSSD e SiemPéSBuD. eei?

zygote is not formed during the conjugation of paramecia, but we call it as sexual reproduction
why?

GIFT —Wedmba ZIFT —ow CapuGsss.
Differentiate ZIFT from GIFT.

XX X Xy
@webuimren
QUSDJUILLD 6UENT .

‘\ B saild o mangn Fl & F2 smaupopsassta

Draw the F1 & F2 generations flow chart for
Xx© X X%
Colour bind

Bauguiwed uflemmod GarunaL GBUIGS.

State the theory of chemical evolution

Quas@am Lndlefludser LJUJG&I'GIGS'LGUI?

gﬁ;;a:;;u;:ﬂf I?D;t:;l;b;z;e;];mﬁ—@mw Lsbaimassaen Bpiipe ufaeSSGNDS

wnuiuGHSS- sk b .
ssxtinction of a keystone species Jed to loss of biodiversity. Justify.

Jfley — I11/ Section -.Ill - ' nmmsxg,:g
; j o eflepLwell oeuppied el G186 &L
g8mab apsigy EETESEDSSD
fﬂm_ma:fyﬁﬁgé of the following in which question No.18 is compulsory.
swer

bug oLifEed
: Gapeldseion  BMIOIY o pupPden  Gurgl  Bwndled Qesuifia
ST &

f 0 i
' V. &numﬂb GIGUIEM- ) ) .
"-55““-@'-'553"’“1?;‘? GD ion does not take place during the gametes formation of drone bees. Give |
Meiosis cell divisio

reason.
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» i . ; 5]61’
16. eyGurenad eeILGuE wirg? BF6 Mﬁfﬂw.
What is known as ribozyme? What is its signil!

1601 ¢ LTS PDFelemen
m 6T T s
 oonb W
17. gyrsdunigfiseaier uflammo psdugsl

eryx?

; opt
What is the evolutionary significance of Al‘Ch:: Slil? W BE:
. . . . lb &l ﬂ]&ﬂﬂ ’ < g
18 @8 wrfleens SLOULGHE Wape e pollution: e 0O,
: * Enumerate the controlling measures of no > BbEIH girey - 8
19. 96 Bfifey Gomurefl, By sdismauisn WP
Bugion? gtiLgGwelsd allsndes.
¢ : tmen
A diabetic patient wants to have a single time tred
possible? If so explain.

¢ Snd permanent care for diabEtes-lsit

L8 |

jon—1IV 5
. dfley — IV / Section
SBPBETEID alambssEnseE alaLwailbsa.
Answer the following questions. ofies 2 Bl  ADTICHg, ol
2. wefigaler, aye GaMIOUEBES euenGFE@0OW LT
unidlener allend g, oo
(8160605 ) sk )
DNA  asug) WyIEuUTmeT, syemmed Bg  RNA-ulelGH! urﬂmnml el Qu%
FSILDS BWTUILGEH SIS, .
Explain the role of hormones in the mainténance of human male fertility
(o)
DNA is the genetic material, but it evolved from RNA. J ustify.
2l. seIEHID WHGD CUTEIFESSD aslwabms CuEID (DSBS FaNis.
(S1606081) '
B ABmen antLris e GuiLman STMU  LGLIUTUITHS) GI(LDBIS.
Suggest methods of maintenance of personal and public hygiene.
(or)
Analyse the interactions of two species population.

SRy TR | ¢ L CeRe A R A7eR. - - -
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mm Wondershare

PDFelement

~ordfl. elemgsnsht 2019 - 20 ./ Model question paper 2019 —20 - (3)

Gueopleney @yesimb syew@ / Higher Secondary Second Year

! : e_uifiwed / Biology |
(B0 wpED gyideon enf / Tamil and English Version)

i ”‘ *f?_m‘

;ﬁsmb oemey 15 BPUOLmEST + 3.00 e Gunpe wHnGuass : 70
e Allowed : 15 minutes +3.00 hrs Maximum Marks : 70 |
gtﬂﬂsum)uash: L. oabs elemssepd slurmi ufansd o eTenpn LS E'ﬂunhw‘? ’
X Garstioneid.  spsiLPals @mpoigids omps seEERCLTELD |

2 _Lamunsd osfelbse)b. 12 ‘
2. Beod (Siebevgl) Smiy eowulenen WL GGW a@@mgm@m::ﬂlﬂ&%""?@“w@w

LWETUBES CouamBd. ULKIEET amasheG QU LWISTIBSSAULD- . }
[structions : 1. Check the question paper for fairness of printing. If there is any lack of faimess, !
inform the Hall supervisor immediately. |

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
@Oy ugd — I (e ulf-sramaiws), ugd — 11 (2_ufif-slevriliuied) Hefl Bl |
alenLssmefed aflsnLwielldbsab.
Note : Candidate should answer Part — I (Bio-Botany) & Part — 11 (Bio-Zoology) in
separate answer-books.

ued — I (e uifl-pragsiws) /Part—1 (Bio-Botany)
(oP1Guemmsit : 35 / Marks: 35)
Ofley — I/ Section—I 5 g8x1=38
e 1. SeahE elaTEEEDHED eilemL L6 ey
o ; in@&iﬂuLL UG alepLaefley BaYD LML sﬂ@L.smu.lgif, CaiH0SHBHHS
@DBUTBL6T efenLulensiup GFTHH ETILSIB. ‘
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

1. Q@m_irgdlume BaupILTBHEHHSHTM SemiLD
i) U ojUgmIbEsTIeT elensT6yH6Il

&) GHmE G pedlen oen6Te| ST |
@) Lsy yUENIGSET LOHEILD Gppeen @nyslisefs eleneT6Y&H6iT
F) Qeiiml DisVEVB! @y el (B LoTUEIEHETIET el en 6T BH6IT
Continuous variation is due to

a) effect of polygenes

b) effect of environment

¢) effect of polygenes and environment

d) effect of one or two genes. | '
2. 9m Heulibsem QUG G8yTGan. Lseorensy QeusTansT SEH QLT ®CymGean." LisbevorayL 6l
seoinlend Osuisneo, Fi FbHHUIe Ups@d WFdoaflsn Uexi s
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_ it S .- Wonc:ersha:e
‘L - PEITE PDFelemen
potig ﬁs}juu
5 fl BT T &ryre,

Y

. - .y 2y < L gDIlD, , :
i) OueRt WEdasit Geustremen @i (ED R HEIBEHL-GDILD -
i 2

&TewTLL(BLD. el
Q) Qe Y&wein Aoty sewisEnLgD, U -
55NGUUTUU@"h'

BIRILGLD, :
d male, the F1 offsprings Woulg

: _ . & &

, B sy wpmb Guest yEdssit el 5WM-Q:;_,;L_5&T
F) @uem whmid Oues ysdssi GeusitansT el o i
When red eyed female Drosophila is crossed with W

be
: . eve
a) Females are with white eye and males are with red €Y

b) Males are with red eye and females are with yeilow €ye-

¢) Both males and females are with red eye

d) Both males and females are with white eye. ' oo OTHDEOTID?
3. F1 #hg8uied STEMULIGBW 060l B seenienw 616u6eNTDI e

B) Iyl CQurPuiwsd epeod

Q) YBIm CLmlenre @snsmedsir (LPEVLD

8) grefLiulL s@g) LOTHBD VLD

) @MemI_Uul L &GrrGunGemb UmL dlulsir epsold

-1 How can we reverse the sterility of F1 hybrid? : :
5 a) Genetic Engineering b) Protoplasmic fusion |
¢) Induced Mutation d) Induced chromosomal aberration.

[ 4. 2 UMl 2 emirelsefsy LEams 1BeMTGauTNL Wb LwaLGSng. B A elmbE
I lﬂfﬂ&,@ﬁ@ésasﬂui'_l.@. o5l Bo a1 @membsiul Gereng.
3) A - Senmeno@LrGiotene); B — § - Camensy

@) A — Oelgwir; B — UTdlebsuerd  &Ligedsrd
8) A - sisaurfur allsBLrflur; B — symiLmiidern sredlwiremr
F) A — sebumsed; B — BBEGasAwr QGsorCet F COM6HT
In biosensors Green Fluorescent protein is used which is isolated from A and spliced with B.
a)A- Chlamydomonas; B - E.coli
b) A - Gelidium; B — Bacillus subtilis
c) A - Aequorea victoria; B - Arabidopsis thaliana
d) A — Asparagus; B - Accacia melanoxylon
5. a_:’gb&euﬁu.sugbmm QuThsE  Ffwiren SllDLemws e
(1) OSEGD Breunp STEUTLD - (A) - WL N Bsufiuyy
(ll) Coumpeind 1010 ireuT P& TeuyLH - (B) - Werbigu
)b o s om0
QBTUIO - (D) - gebry” 19

o) (1) B (ii) D (iif) A (iv) ¢ 2) () B (i) C (i1 1
&) () C (i) D (iii) A (iv) B ) ()D (ii)l)c (i(ilil)liilljéis;?éxA
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(i) Free floating hydrophytc

. Match the followj | ‘i
M lowing and finq g Sifect & Porement
:  answer

(ii? Rooted floating hydrophyte - (A) Uf.ricularia

(fil) Submerged floating hydrophyte : (2) Plstia‘

) R oolc.cli ~ Submerged hydrophyte . ED; Eydnl]a

a) (f)B (?) D (iii) A (iv) C )’mp:aea'\ .

c).(l)f.J (n_) D (iii) A (iv) B | _d) (f)B ({1) C (1'1'1') D (iv) A
6. SLEEILODDIGT 61 ONIW &nirLsh ) () D (i) C (iii) B (iv) A

o) 16 WHYID Wb suemp eumm?ermrﬂuu CRophsie]
&) MU eufidhaL b

®) 2 ulfiwoyds @fon

F) elleobi@seriel  eremionldsemmeany DIF &M H 560

Which one of the fqllowing is not a carbon sequestration method?
a) Forest conservation and soil conservation .
b) Carbon foot print

c) Biochar

d) Increasing the number of animals.
7. grw euflenss Cxieller @eopur@
o) GPEme0 THIUTESeM gHUGL Wiy CagurBasmstt UAssAL Bwuselsamev.
&) YW IDJUGRISINSWID QSTeRiL STaujhissT 2 @ainds PQUTHSTE, DiemaussT G
LTHBSHEDG GHU SEREMET HHUMDEIHIE CBTETTTSHTH BMSHHMD GMDEUTHE
Qe eutBeiTeTen.

@) PN BTV SieTEM6L LOJLGNICINSWID WIDILTE DML USHEUME)

7)) @bsd Sreurmiset GaupulL Fisaeniomud G\&.rrsu&lm@eiseéémmml"

The disadvantage of pureline selection is :

a) It is difficult to distinguish between hereditary variation from environmental variation.

b) New genotypes are never created so they are less stable to environmental fluctuations.
¢) The genotype is unchanged for a long period of time.

d) The plants show more heteozygosity
8. Bapm (A) : 2_ovaled GUEBILTENE WEEEEE oMACW gHTen 2_eWeuTs 266N,
smemd (R) : @& &G B@ps aads Gafored LG 266y,
o) (A) #f; (R) sam
o) (A) gag; R) o o
@) (A) sf; (R) &f; awemed (R) — A-sow eflendaailsvenso
) (A) &fl; (R) &f; (R) — A-eow alens &S DS :
Assertion (A) : Rice is the staple food for most ‘of the people in the world.
Reason (R) : It is easily digestible and calorie rich food.
a) (A) correct; (R) wrong
b) (A) wrong; (R) correct '
0; éA; corre(g;t;((R)) correct; but (R) dpes not explain (A)
d) (A) correct; (R) correct; (R) explains (A) -
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Sfisy - 11/ Section =11
- gD BreiE slembsenseg eflenwellbdeL:
Answer any four of the following. _
9. BhBULLGMS auHE UTERDEET )

=

Draw this diagram and label the parts.

e

10. smeymssen STNDIEL  6T6i160?
What are embryoids? .
; uGHSHIS
1. szt @@:ﬂmﬁt}lﬂmm‘i}@;ﬁ@ fpfen @pHemsouiiwsmeo Gsuml
Differentiate species ecology from community ecology
12. uds elwasng sllglenws e1pg
White ten percent law ) o &
; CousmiBw
13. sreur uesiysefs 98y & peemwew o ey GFTHemen QEUIWL ®
How to do test for homozygosity of a trait in plants?
4. giendlulen womsgieur LIS SEMT  61(10%1%
Write the medicinal uses of Holy basil

Uifley — II1/ Section — III 3%3=9

gCxed WIm  ellamssense i wef Sleubrled el sorm a16mI-1886@ &1L muiors
sllsnL wiefld ey

Answer any three of the following in which question No.18 is compulsory.

15. S &ovss SRMEDI6T sTsheuny BIHSHE G |psh B W&ng)?
How does pollen tube grow through a solid style?
16. Geugyu FTBeeniowent_w OB eusD

17.

Draw the diagram showing four strand doubl
18. Gyerd Mdage srsu&r@ur,r_r‘,]tg&aﬂ(‘:’msﬁ)&.@)é@ Ouw@ip WY Wirgy?
0 IBHBGHIE g, #
What is the naming proced

€ Cross over

ure for restriction endonucleage? Give g
* <

19. Gurgs @i Souisd, 210  gfns . N example
’ Ws&EIG  p ’ .
UWETILBSSULGE g, Joi? ellomis @z, i BeuyEig e gy QeM&FBFTEMNSSY
Of the total sunlight, only 2-10% of the '
’ sola :
Photosynthesis. Explain why? T energy i used by green plants qu

_ _ _ Ufley — 1V / SectiOn;[v
BPESTGD ole: s ey oL welsmayn ' T 2x5=10
~ Answer the following questions. |
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DO WETHSBEBerlrel; B PDFelement
. 6D : m&\a 16V a6 gy ISBICILIT 1ot premen

LCAguieAds -
oyt GUISUIWEISH \feyy QT S | |

Enumerate the charactoriggic f'cutn?% ‘;m{}m B-Bihimnitad). sfourgf) s E
! 8 of anemophiloug i |
s plants,
id is @ i i o
Pla:sm a go?d veetor in genetic engineering, Discusy
&M 90 WHEW sne B

DGO 6, 01 ety @l Libuhomen eRandiepm
(@16d60g))

yeufwed  anir HBIGOGDLIL |61

. : Giweme  Guem o gepb  em  § pioyBprun?
U Gwieiled ; , -6 e

SiU lr,! | :E}Iﬂ')@ﬂ. pemmasemenu i WA g 1e1Hm g b aupmHim,

Explain the role of wind as g vitq] ceological factor,

; (or)
Do you believe th

. at geographic information system will conserve environment? If so write its
methods and importance.

UeS — 11 (2_uif-slsotueusd) / Part - I1 (Bio-Zoology)
(oPLCuesiser : 35 / Marks : 35)

Ufley — 1/ Section -1 g8x1=8

GHiY : 1. owendhg elambsemsen elemLwalbsnb

CasMBssILLL BIaE elmLsals Woab ghumLw slaLmws CoHTHASE5S!
GUUILGLer allsnLuwlemenyd Cairdhs 61(QEHIG.
Note : 1. Answer all the questions

Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

1. wsTEe Gm LT aleUHGSE, Dol Hafled esrrarfm'_:u@m 5@'51;@55;3 UMD
o) B HHSDIBHED Q) DI HHNYDIFHE |
B) WwlsTEms WPoD BSOS #) @enb 2 ulfl seell @aUCUEHSSLD
Human beings are unisexual animals, the type of syngamy in human beings is
a) autogamy b) exogamy ¢) hologamy d) paedogamy
) - @aounss Hepaseis sfute auflas -
: ﬁ%ﬂ?@ig L—aa.u(r_;;msﬁr&%m -—Pm@m@gﬁb — aa@f'ﬁ(%esnmb —> UBES
H(HEGHT6ND — D (pILIL|&6T Bgeiipeh —> LD{BUGL!]I]I._ . -
o) BmFOF60 2_HAUINHEHID —> LeneymIged —> cgpsfj@m@ &mHSGHTEND —>
&(HEHBHN6D —p_[pIULE6iT ngrrs&lmsi)-—fw&.nf{suml. |
@) BeFQEsd 2_HAUTHBID —> B[O BBV —+e5@.&.(8mr.rsnm "_.’l-.ﬂﬁ“ﬁllmlﬁfﬂ)
wauBhE SHEGHTED —— 0L — 2 [DIUL|E6T .(ngrranmm - .
) @ems0sn 2 GanbH— SOMBBL— iﬂmmfwubm—-r 2_quissi GHrsined
&mHBGHsIemMD—> IRICEIE) w(HHGsIeND—> 10&UGum

181



http://cbs.wondershare.com/go.php?pid=5261&m=db
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- FE ok PDFelement
; . being 15 jon— OTSAEEEEEY .
The right order of reproductive events in humar! £ gastl’lllat i

a) Gametogenesis—s fertilization— basto®y> . (——» Organogenesis
b)——é:g;tuﬁtion. 4 e..,...pgastru‘-‘—tion e blaStrOCYS . st
0 1 )
_’pamgr;?g;ns—» eavag _ cleavage ___,gastrulat.lon. _
'©)  Gametogenesis —» fertilization —»blastocyst
— parturition —organogenesis
d) Gametogenesis—fertilization—»cleavage
— gastrulation —pparturition
3. dpaupeeiaubpist g smueu i UBDIGHT
o) HPV — s@uydulsn apeoid @psped He0e0 5
Q) ysvasulensy Lweium penend HelTHH60
B) Bawg Howensmss HelisHHe0
F) UO@GLET @eQumsbssid . 5
Which one of the following is not true regarding .cervrcal cancer?
a) Primary prevention begins with HPV vaccination

organogCDESiS —-—"‘blaStDCySt
—_—

B Q_mmmwsﬁmr@ Gurreiaeﬂu_,lh?

el UD SADE!

Gl E@MLH

b) Avoiding tobacco usage
c) Preventing early marriage
d) Practicing polygamy

4. BpsaiLeupern CQuTmsH Flwmer allepLenwis TS
() e¥funfpiss o uimstsn @Y wEHBH - (A) grevd GuTEIGWIT

(i) Qamsveoliu’L HGI WHHS - (B) anfiumggso HGUY GBS
(ili) mEssH6T - (C) slLbmn SHEULY DHBSH
(iv) @yemb geveoupen 56Uy wEs - (D) DPT s60Y LEHS

o) (i) C (if) A (iii) D (iv) B =) () A (i) D (iii) B (iv) C

® (i) D (ii) B (iii) A (iv) C ® (i) B (ii) D (iii) C (iv) D

Match the following and find the correct answer
(1) — Live attenuated vaccine (A) Salk’s polio vaccine

(ii) Killed vaccine - (B) Hepatitis vaccine

(iii) Toxoids - (C) Measles vaccine

(iv) Second generation vaccine - (D) DPT vaccine

8) (i) C (i) A (iii) D (iv) B b) A (ii) D (iii) B (iv) C

¢) D (i) B (i) A (iv) C d) () B (i) A (i) C (iv) D
5. SeupTen Benemenwid &emi(BHLilg

Sl) LTI &aL 1y - eon&BLIsTdEem

&) uir - enaGyrenwdled QefealdGy, h,

) @llfﬂ . Gﬁuf@'&ﬂtbmﬁlﬂéi O emgymLIE

F) Ggmliy - uferol

Find out the incorrect pair

a) Cheese - Lactococcus

b) Curd - Saccharomyces cerevisiae

c) Idli - Leuconostoc mesenteroids

d) Bread - Yeast
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@ () - 21, (i) - 30 : :;L)(.()i) - 22, (") . 29

Insulin molecule is made of tw . ) -20, (i) - 31 o
Chain has (ii) amino acids, 0 polypeptide chains, The chain A has (i) amino acids and B
a) (i) 26 (i) 27 . _ '

o) (i) 21 (ii) 30 b) (i) 22 (ii) 29

d) (i) 20 (ii) 31
" o) @bHu usd wpmn QAW Wrenar
) BbPW FABsD LHD BESu Wi
@) WLBHTed e1mibL s & sie) Lhpib GFged amibLshHsisf
F) SIETGSTERILT Lmby WhHygb LOEDEOLIMLDL |

periya.r wilf:l life sanctuary in Kerala is famous for
a) Indian Tiger and Asiatic elephant

b) Indian lion and Indian elephant
c) Spiny ant eater and scaly ant eater
d) Anaconda snake and python
8. @bwralen euar WwelH6 eEmmPSSILGT WTT?

i) GHSHTEOTEL UGG &) msed umwiis @) ouwfpst Am F)
6TLD. 61670, 16U LOI BT H63

Who is honoured as Forest man of india?

a) Sunderlal Bahuguna ' b) Jadav payeng
¢) Amrinder Singh d) M.S.Swaminathan
9ifley — 11/ Section — II ax2=

g8a@ID HTEIE eNaMbHEHSHE el wierll B
Answer any four of the following.

9. SIEml 1DeVLBHHSENEMLDBEHTEN syemmhismsT UL IRWelBs
Enumerate the causes for male infertility.

10. RNA p_ovslb eemiiuBeug wig?

What is known as RNA world? . . o
1. @pugevowren  auwg SEnsSGD wopladahs UG awg smsSHEL (PO
CupuBHBIs.

Differentiate relative dating from absolute dating.
12. 'Qprdseoar’ — euenguwiDl
Define ‘bio reactor’ o o
13, ®uwiomeodE DILILTEIeTeN LGP @eMsd STELLEL AlevBIGSMmenL ul Wei®s
List out the fauna of Trans Himalayan region
14, o fw o HUOLGSSD b GUUILiLGE wWrg?
Which is referred to as biomagnification?
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H  PDFelement

Ifley — m/Sectiql;m;bHﬁ,ﬂm g1 185G B-L

- 9Cp@Id weim slamssense alomLwel D L eory:
ellenLweril s s ayib. . No.18is compu
Answer any three of the following in which questio
OO OgRbyedsi UL aumybg LTskemmEs G
Draw the diagram of a gemmule and label the parts: ofeTHES-

16.

17.

18.

19.

20.

21.

albg OFed e Gasvedgueh yGb W (pepeiL!
Explain the penetration mechanism of a sperm into an &€
uflemmosiiwedesd, Bevemiiy o uifsela LBEG areieat?
What is the role of connecting links in evolution?
heopsSHuelainbs GuPpmear CapubSSIE
Differentiate oligopotency from unipotency. A . w D?
weaflz wﬂuﬂllé;glll:_&;ﬂd}l’ D) mI:u’ﬂg, aupLTHEISSL- 5P ey SO B
HGP is useful in tracing human history. How?

2*5&10

Jfiej — IV / Section — IV

BPSETEID aleTdbsEmE:e sl welbaab
Answer the following questions. P
FCaTmeuled poQupih Hemefldr  GFweutd CBHTLRGS

CFwedpemmenws allendEs.

LOMBDILD SiMangg)

(S1606081) i - _
uTesTihs  Lmpbufw  GETissT  GUELLTEID ~ SyeiGmeIC  UTHSSDS. BFmar g

2 _SMMSSHIL&T alend .
Explain gene switch on and off mechanism in E.coli
(or)

Sex linked inheritable diseases mostly affects men. Explain it with an example.
SUICerd @b CrTU Sievey, Syemed Bg wbp o ulfarmiser STHGUSHG 2 gal yfdng
alend@s. geir?

(S16Veug!)

et CETNSHT LemTLBme alleneEs.
AIDS is not a disease but it facilitates the attack by other organisms. Explain why?

(or)
Explain the properties of pedosphere.
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question paper 2019 — 20 - (4)

her Second ,l.."-:i
@O i i 2 Wiy Biology ary Second Year

| .;Psatb oene : 15 DA mise o S Eevb ey

) | : _ LoswA) / Tamil ang English Version) {
e Allowed : 15 minutes + 3 g Qunss wHIGUsHEsT : 70 L

, ae&sT ¢ 1. Sieheugeg fearma ! Maximum Marks : 70
&ﬁ EE@D sl Udlourdl o sitengr  eiduBmeT  AUTTHSIS

DFGHULH s e . i :
2_LeIQWITmg Qg ssweyd GopUGLIs owmns sonsteafiiursnfiib

Beold  (Sisbev a ¥
HWSTLGS S iﬁgg H ol 1wl Gew awamBhED SI9sEETBBHGD i |
- structions : 1. Check the question pape S i

gy r for faimess of printing, If there is any lack of fairness,
Inform the Hall supervisor immediately.

2, 1 :
Use Blue (or) Black ink to write and underline and pencil to draw diagrams.

GolY : ueH — 1 (2 wif-sreuyefuisy), ugd — II (2_uifl-efevrmdwsd) HeflHHe
sl greried eflemi_wedaseay. '

: Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in

separate answer-books.

Pt T
i —

ugd — I (2_uif-sreuyeiwsd) / Part — I (Bio-Botany)
(FlCuemissit : 35 / Marks : 35)

fley — I/ Section—1I 8x1=8
GO : 1. SaHSH MambsEnsGL allnLeibsad

T e T R T

2. QETE&SIULL Bl elenLaeied Baab giumLw almLamwd CaTbsbsHE!
GO GL6i allenL UWIsnELD Baiidhdl 61(105IS. :
Note : 1. Answer all the questions | |
7. Choose the most suitable answer from the given four alternatives and write the

: !:
option code and the corresponding answer

1 o CHOLLES STOUIHEHED 2616 o _HoUTHS LI'_EEw(r_r)fiﬁ]GiJ o _giten @&BynBonBambsi |
| gg)mai!ﬂ\! DBEID ST o | &melsd 2 66N @CymBwnBsmbs Hemsv B. i
o) (A) — m)B — (2n) o) (A) - @2n B-@m 0

@ A — 2n) B — @n) mA-mB-m i

I i is (A) and tube nucleus
omal number of generative nucleus is (A) an
In a male gametophyte, the chromos

is (B) b) (A)—(2n) (B)-(n)
a) (A)—(n) (B) - (2n) d)(A)-m) (B)- (n)

c) (A)—(2n) (B)-(2n)
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% fgﬁﬁwzz’fgﬂ? Ml Qosuifpadsn Guigl © kD S i,
N VBB GOIGINGsTDmM picvessmaiel DILTDINT
SO L DDA BB »_sitsg). . oaoar® G&BITeLIGsTp
Q) GHDED LI @@L Heneoulsd aumb S Hensouled ?6” 60mENTS LOTDIE6Hmey
SrCiusnLuyb Burgl @eiBainm wimalssEHD @UG.”T@ B ‘
P0G isveSeomib e @BynBioigL-s HTEMILGL i apeotd BEGoUBILLL
&) QulLm Bush L obPmse; @Gyn8wnGsnbas IfRIBH &
SiveSsvmena Il svenL Asimer,
) &R uGLIs e Gusth - Tl QoI
&CITBLL1pL w6t Ufl&eimen. . :
Which one of the following is incorrect regarding chromosomal behaviour during cell
division?
a) The alleles of 3 genotype are found in the some locus of a homologouﬂ. chromoson-xe,
b) Inthe S phase of meiotic interphase each chromosome replicates forming two copies of

each allele, one on each chromatid. ; .
¢) The homologus chromosomes segregate in metaphase I, thereby separating two differen,

& BynBLTGsTbEse #8angM

alleles.
d) In anaphase II of meiosis, separation of sister chromatid of homologous chromosomes ta
place.
3. ag@ﬁ“ﬂbﬁ‘ﬂsﬂmrii@ﬁﬁ b5 QD @IeRILTD Fenso susnitdlens LomBBLU @UIT@SI'T?.
D) SIHBAMT6D ) SFLs sufsoid @) A fMs oufeod  #) B&Fs Bnbas
Which one of the following is a secondary metabolite? _
a) Ethanol b) Acetic acid c) Citric acid d) Toxic pigments

4. Beumeuseummsit b5 @i sflwrer OFrEs?
o)) elleidfevist - HAsiCasrer o1 Udlemederd - LbmBmru) SIATOMHHE!

Q) Calmsdlen - CampHmbsem Grmdlwerd - 1Beoflwir SIFITOmHE
8) wgnéerian - wgLmedeo LiyAwr - BsUHPDBE WEHHE
#) Cargenr - Galifsibd SIS - 6uel Meuryend]

Which one of the following is a correct set?
a) Vincristine — Cinchona officinalis — Anti carcinogen

b) Capsacin - catharanthus roseus - Antimalarial
¢) Digoxin — Digitalis purpuria — Cardiac tonic
d) Codeine — Capsicum annum — Analgesic
5. Gapm (A) : anUBUTeSibsfwrefsy Boseh B SO pEID &efliyts @ma@b

smemd (R) : gmeden DUguiled o _sitem ylufeir Gautiugen :
1 & Blevsvsnw siiugs B

) (A) efl; (R) sag
<) (A) wpgd R) @yem@Bo o) KA (R) esiug) A-uiey alenssiors
DI 60EN 60

&) (A) wbpw R) QremEeo &f; (R) SIS ~ A-ufeir

. MG E 0TS sieADE:
#) (A) wpgb (R) BremGeo geaum
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TVIEN

Ty

. pssertion (A) : Hypolimniotje la ; |
" Reason (R) : The water holds { yer of water is always cold,

) (A) correct; Rieins he temjperature of soil at the bottom of pond

mm Wondershare
E pDFelement

g .

| b) Both. (A) and (R) are correct; bu (R) is not the correct explanation of (A)
. ¢)Both (A) and (R) are correct; (R) is the correct explanation of (A)

d) Both (A) and (R) are wrong,

- ﬂéﬁrmggﬂsﬁr BINBET UL T &im6h Gurmet

' B ofs gedujer Qeugdbdlsimen’
o) Gurwiamrelwur o) SeflGwmp ®) uradeflun eugmred #) aBEUSHEILID
gBeoLflm

Which plant pods explodes with a loud noise like cracker?

a) Boerhaavia b) Cleome  ° ¢) Bauhinia vahlii d) Ecballium elatrium

7. SYOCNTBDST b5 Gam S NNflmL GibEen 2 emes gl
9') leE’dT-_'STG&5G‘T —*‘L"TI_.DLI—-D- U@Eﬁ@'

&) QUEOLID _y UBEDEUSET —P6usHiBe6T — L EhenFssi
@) sy BsmassT —>allone Wsmasst —> s —HUTDLSST
) STUIHIGET — (pWwed&sit — Bl —> LEHHE!

Which one of the following food chain refers inverted pyramid?
a) Grasses—» Rats —»Snake —»Hawk

b) Banyan tree—» Birds —»Beetles—> Fungi

¢) Phytoplanktons— Zooplanktons — Fishes— snakes
d) Plants—>Rabbits—» Fox—> Hawk

8. ApImEIETEIDBIIST ShEH SN o _uifl (Be?usﬁ] Beuan 107107
o) Hevenfidigur FIwd &) Biflund

@) oiBeur Geugm %) BemyaThaion
' ing is a li f fodder?
h one of the following 1s a livefence 0 o
:;ng(l:iricidia sepium b) Nerium c) Aloe vera d) Chrysanthem
Afley — 1L/ Section — II 4%2=8

gBoHand BIEIS slenésEH& elenLWaT&bEaLD.
following . . i
9 ;:;v;ei,g; fgﬁ:@(‘;f&,t;t;qﬁ]@ AHD NS GFwims HoPauf GUmHSSLD BHEVEIBI-
"o i b QETB&EHaID. o _ -
i\;;f'@h aﬂs:)hl_?%f fn"?fgl;l vegetative reproduction 18 good in plants? Give reason for Your
ich metho

answer. ' : L
L0 @hp uboD QuamhE LTESHIEDENS @HIIG

9 QEsd (PEIBG

Redraw the diagram and label the parts
©

2 Celled proembryo

-_'11'- -Gt grBamienul mnmwmmwaﬂ@%ﬂd@-ﬁ”m’u&ﬁﬂ& A
' Differentiate tetrasomy from tetrap y i

._ HB?;““ ;9¢;LQ13:.
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. crgren? O |

12, Bergiensmnurés P rugmorppn seTDTeY 6 N, .

What is known as electroporation of gene transfer? ot 2_uiifiseir. ”-ﬁlugﬂ;
13, wrugy DBWTELH6D  ouiellen  apsold u',m gz’ .

CruwiuGdsimear. Gsh aghans o uifl urgsTUH ties of organisms, What is the Neeq of

By using gene manipulation research we produce variet

biosafety in it? ' ' '
14, usHBsumy GIfuwsd LOERIL 6VMEIB61160 9—5'_'6"

OBTGSBILC 1 EhHHTaID, STHlgVID ‘D“ﬂg’@m&. b GIUIGS-
g Friglelullsd wealsamen DOUSHEI, DiBDEHTEN HIYEMHMBULD t of man is not mentioneq y
In different food chains of different ecosystem the placemen e | 0y
give placement in a suitable food chain and give reason for you

e

usvGexDl g_sﬁmﬁ:’:]& m el
. 6 .
@fiLeieomes: - LA 2 ayg,

_ i 1-186@& SLLIWILTS
JesEID apegy) cllentdsensd el well owubmsd el 616w
sllenL wieasmeayip,

_ , . Isory.
i Answer any three of the following ir which question No.18 is compu uj'g_l 585 PO
. . lT '
l 15. 9LB e STILG ool ulifenws 2_panseh woptu sals, U " -
:?
|

. Ix3=g
J | Aifley — 111/ Section — I1I
|

i

Bbss smieon B ghme Careidprun? siigeueisy 2 a1 uUHmeo STesTHurss
@&';rr@a';{ssm_b, : ‘
Grafting is a method of production of hybrid plants but not the method of reproduction. Do
You agree this statement? Give logic reason for your answer.

! 16. @Uu $86d &CrmBionGsmp stewienlldens LpL ) CaTBSSUULB6iTeng). Densd SmiBLIgsg
| @ﬂﬂ@U@@&,

This is a type of chromosomal abnormality. Find jt out, and give a note on it

17. eglgBLmb ersieungy BTG N6 B BHBuT60 w5 UTSIsT g2
How does Rhytidome protect the plant against forest fire?

18. mﬂsurél@asaﬂmﬂ@[_’r,@ Osutib @susrﬂuu@suilsmrrein, U
In animals, Joss of energy occurs due to evoporation o

19. @Bsnar @piniemsy wellFen 16g TOUGL By Loriy
Write the direct and indirect effects of ozone depletio

D60 @ypiy BLESmE). ereueurm?
f heat, How?

B e e sllensneysenen 611pHIE
N on map,

Ufley — IV / Section - 1v :
BB HTERILD aﬂsmrrdsaz.@],&@ mﬂsml_umﬂésemlm ) 2x5=10
Answer the following questions,

0. 96 96 sHmL LGN WHGHE RS Seianin CTUgmegy
i | | 5
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PDFelement

u wﬂﬁ}mﬁﬁﬁﬁ 2ol & .
wyu 0 FRAE BLEHUES QrwsuGh ob8yTUTSERALHH LBIEIEne

- eSS |

]ain the pattern of inher; _ ;
Ex:e P nheritance of a dominant gene suppressed by another one dominant K
geliv- :

(or)

Explain the role of Agrobacterium as a vector in gene transfer
wip BoiR, g aflnsh Bgiowd GUILE o6 swmwiul U-bHE o gelue
g enB&S-
. _ _ (S160608))
OS] QurmLseilel SgFar Hpb ond ubl aWSIS.
Compare mass selection with pure line selection with the help of a schematic diagram.

. _ (or)
write about the king and queen of spices. :

ug® — I (2_ulfl-sfeonswev) / Part— I (Bio-Zoology)
(0P1Guesimet : 35 / Marks : 35)
\Ifley — 1/ Section -1 gx1=8
GilY : 1. Simasg elemeHEnHEGID el wallbsab
2. QETR&EILLL Hralg elmL sl Waab gouemLW senLemws BHTHOSEHD
GO GLe sleoLulsmenuyd GETHBI 61ULEIS.

Note : 1. Answer all the questions
5 Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

eapL gTaled, QLT BHEemeN Gappiels&L SIBHSS6N.
o) Us Sb5S LB o) UD poin s DIBBGHB6IT

@) yp, BE WHYD DS DIBHEB6T F) Up wppd B6 SiBSSS6T

In Hydra, the buds develop from
a) ectoderm layer only b) ectoderm and endoderm layers

¢) ectoderm, mesoderm and endoderm layers d) ectoderm and mesoderm layers

2) Bg, soodp Cufléani sulgEI(PENL WIS .[
o) Bg, SApmiuenu LMD weEGELMIGE SoLGw SIEHSIETENHI.

@) smumL DB wHHU 2 L6 u@HWIE apsolons Hevaild srevaurwigel HpeHSDSH.
%) suesuuisn seuflsd apaID: SIBEHE D6 2 6T6NEl.

Which one of the following is an incorrect statement regarding uterus?

a) It is an inverted pear shaped structure.

b) It lies between urinary bladder and rectum
¢) The uterus opens into the vagina throu gh fundus.
d) The wall of uterus has three layers.
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L3 mpm (A) ¢ EGHSGP ool aSUS!
fBFens. 5 56
- &gemb (R) : Bm Beadbosd mLpplubeD

; (R) &
SGDIBDOUD HEEIDD ) (A) B
S) (A) &f; (R) saum :L(A) #M (R) — (A)yoow sﬂmeﬁ@@%
8 (A) sl qyemsd (R), Ao eflendmeNsoame i e

: ilisation ion.
Assertion (A) : Tubectomy is the surgical sterilisat and prevents conception.
Reason (R) : It blocks the transport of the gametes Correct

A) Wrong; (R) :
a) (A) Correct; (R) Wrong b) (A; Correct; (R) explains (A)
¢) (A) Correct; but (R) does not explain (A) d) X @ngewn@anm&%
. . ibaevemud 3 4
4 9®  upiysd 12 p e  (@GmBWIGET

CeteiymbTed, oigsr Ut aeien? i L) GuE F) GUUT Sy

) Kyew &) OQues ®) urg &Y and 3°X° Chromosomesy
What is the sex of Drosophila, which contains 12 autosomes e
hs ’
a) Male b) Female ¢) Gynandromorp e |
. . o ol
5 BD 2Lefsd WBC - ulamed @ewiGuymen o pupds CEULLUGNS e,

15 HEnL &sruy? - .

) BITGUITE B 2 L efer 2 Pus GeuwiLGaGNN BB 96 GFLbmEs
SWIiy Wweba.

%) B3 9B s Whgwren CrTIGSHenL. &SIl

8 83 90 Busiy CrmissemL &Ly 3

F) B8 90 Csbos wepulsd GupLLLL GrmisHemL STy

What type of immunity, when interferons are produced by WBCs in our body?

a) Interferons are not produced in our body, it is a synthetic drug

b) It is a type of passive immunity

¢) It is a natural immunity

d) It is an artificial acquired immunity

6. erO@umi 2 _pusduller Gumgl, Gudlevevsrd gifleAwsiflad g L9S UIssms o iusd
Geruha!.‘!gn@.-ggss&r Quuwit (A) QLY SSHMmEmen &PuiG (B). ,

o) A — aengBym_rédear B - eomé guyme sl 3011

&) A — Bl Crr Lisden B -Fab gfsiaen

&) (A) — susour Lrsds B-PCR pfsiimsir

#) A — GLedr aIemiBLmLrdfe B-Cry gismsir (Sleny gdaasi)

ggggd?;?alinon Bacillus thuringiensis Produces a crysta] protein called (A) which s
a)A — enterotoxin; B ~ Lac operon genes

b) A - neurotoxin; B —Fab genes

¢) A - Alpha toxin; B - PCR genes

d) A - Delta endotoxin; B~ Cry genes
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10eRTGSTENLD - 61T

i e
o) 90 GLBON wsILsH 2 s smeds Aubtu whpn 2 Wi

EHDFGIPONE GG 1
2) Yululed 2 efen oimenda o _ulflemmbimsenb BWHOW FHDIGIMI s BoHE MTIHESD ; i
@) woulst Quiiu - CaBw &nmFapmens GOUUB. 1
F) GBI waiLosda lssdfiu ugHemwds GBOUE, 2P0 2 uifleatissit BB .

GIPVIL 6T BEHBEH UTLHS6V. - i
Ecosphere means I

a) all the physical and biological environment of an ecosystem,
b) all the biological organisms of the earth which interact with the physical environment.
c) The physio — chemical environment of the earth.

d) Smallest part of an ecosystem, in which organisms interact with physical environment.
8. ywsiu Crmsow  Qryw  ugdHsaisd o2 ulflu  uswmsp  Feew  WEHH

STEUUGSDS. BeBEGE SNy,

o) Blugdseie o ulfleamessisr amides LIBPEABG sTeswe  CaulUBm
BevayEME.

&) GUUILL Gen Qeusflullsd Luish o (meureudlsuamsv.

B) GatmLs sTHHH Hevayb e oiPs OCealiuBems (40°c) STUIHBENHES STHHN5
9 66Nl

F) BewiL LseOUTWEI, @aigGaTemad@d ULGIGTMSTE 2 6l6MZl.

Rich biodiversity is seen near equator. The reason is

a) most suitable temperature for metabolism of living things.

b) cyclone does not occur periodically.

c) extreme temperature (40%) during the summer is favourable for plants.

d) lengthy photoperiodism is useful for photosynthesis.

T e e o et

— e et P

s

e g————
SN SSRGS =7 SR

e e e —— ——

I

LE R 3 os

ey — II/ Section —1I 4x%2=8
g8maId BTG elamEsEnd@ oL wsibasab.
Answer any four of the following.
9. aeleiigaeisd mBoLOUDID el GMUCOUGSSSHMS gl BEID  FAplyeusns  UTalen
BaOUmEBS (B 616 SimPsEGCDTD?
Why do we call parthenogenesis as a special type of sexual reproduction in animals?
10. dghd) Gurules (waImMD Beney SFGHIEMmeN 61005IH
Write the tertiary stage symptoms of syphilis.
1. Pnsse GarLnaisendd tRNA — 61 B gei?
There are no tRNAs for stop codons why?
2. 96 10 awgm GpHms daembeaw Gpruiamsd urdssiul Gamg. Bbhs Genis GHTHH
BELeUBHT Sie0euG Gal LsT? 2 6l el b@Gs &TIID H(H.
A 10 year old child is suffering from chicken pox. Is this infection good or bad? Give reason
for your answer.
1. fveuens urdiefu Hilysemen BMD ‘GUUT US™ 66T el SimPSSGDD?
Why do we call some strains of bacteria as ‘super bug’?

i

— T —— - —
i B it S s i

e e e,

A’

o
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14,

15.

17.

18.

19.

20.

21.

BEHBS, B s
G HHETHNSH &\ feusnmuleir wDIGHd  Hfesen BBl p_JHBED; ' %ﬁ
THOTES  B(mdbEib. eTeueumy?

Ecosan toilets are an excellent substitute for chemical fertilizers. HOW

3Ix3=g
Ufley — I11/ Section ~ 111 i b i
SJGEJ@IID @Ghml ﬁlﬂﬁﬂ]ﬂ&i’:a}@ds@ aMeni_ el awumgﬁsb ailemm aiemn-186@& HLL
sl welldbsay,

Answer any three of the following in which question No.18 is compulsory.

Rh+ yniuemibener Geuimfen Qursienmen 61D

Write the Wiener hypothesis for Rh+ phenotype. e |
5'—3' ﬁw%rr;paﬂm Buydeils g[:mmmgmmmmsb @PudLOuC@eten S5
wHpd 3 syBwebmen Qunsh wrg?

5' — 3! direction of a nucleic acid. Write the meaning of 5' and 3" in the above
Statement.

ML UTWE smuiFFen g6 aeiLfe @niiFse e QI@N&’UU@&;}E@?

Why is typhoid called as enteric fever? Jy
80 G GBI WewIL e0dHsh sTeieuTy UsBeum euens IS QDTS eUTDEl6se?
How are the different fish communities living in a pond ecosystem? ' o
dAnmlentissn - Bleotiuriy e BrenngB@n BB o sian OBTLTLSETET WL gy
afleurl.

Describe species — area relationship on log scale.

Ufley — IV / Section — IV 2%5=10

Answer the following questions.

STIU BTe0sH60, S Gau) Bmeniyg Haeler Lkidamer oG 5.
(Sis0s0gI)

RNA - o _ovab - alleurg)

Explain the role of placenta during pregnancy

(or)

‘RNA world’ - Discuss.

Camfbenensy GQueoraflenmésib 2_gallu L e Bupmas Csialamar f
(Stsv60g)

LGS Cangmand ga GEmub B 596D, PCR-6i1 Lnislenenr ol @ s.

Explain natural selection through industrial melanism,

6116 (5 5.

(or)
Explain the role of PCR in clinical diagnosis.
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;ﬂsmb'&ansq . 15 EOLEISST + 3.00 wesf)
'rime Allowed : 15 minutes + 3.00 hrs

L on@f -ellemgsrer 2019 -

e ey A

2(.’! / Mod.el question paper 2019 — 20 - (5). &
?;suu:m@ 5{5 l:u;w;hcr Secondary Second Year

- I iology

(B0 wBpId yhiaeo e / Tamil and English Version)

Bwsblensy @rewtmb

QurgHp wHUGUeIseT : 70
Maximum Marks : 70

 ppsyeoyset ¢ 1. SEDISD! allombsed sflunsl uherd 2 senmr asumeen ERLTTHSHIS

(AL 11 (T[T DIFFULSH N0

o Lemgunss Gfeldasealb. D smesimrerfiurenflLiD

2. 550([.; (@-mbs\)@) <.EB®.|'_IL| smipuwilemen  101_@BLp STIRBINBHDGID DI95HCHMTYBUSHDBELD
LWSUESS CousBID. ULMBIGET aueniasng GQusidlsd LwHLGHSHMD

[nstructions @ 1. Check the question paper for fairness of printing. If there is any lack of fairness

inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underiine and pencil to draw diagrams.
ey : ued — 1 (euWfl-graueiws), ugd — 11 (2_ulfl-eleomisdusd) sHefssef
alenLsHmefled allent weiéaaiib.
Note : Candidate should answer Part —1 (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books.
ugd — 1 (e_ulfl-sreuyeiuisd) / Part — I (Bio-Botany)
(@AUCUewIEET : 35 / Marks : 35)
Uifley — I/ Section— 1 8x1=8
@iiny : 1. SMSHII NTEBEHHEGD 6enL I HHN|D
2. Qar@ssiurL Hreg el deiisd Head goymLU alenLeowsdh CHTHOHBHHI
GO GLe el uleenun GsTHS! (SIS,
Note : 1. Answer all the questions
2 Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

g\psumaIRTaIBRIsT 61bS 6D PHUTED LDEVTHSTEUTID?

o) GG &) UTEHHM @) ulLmef ) Buisens
Which one of the following is a dioecious plant?
a) Coconut b) Bitter gourd c) Pea plant d) Date palm
EipeumeusmeuBmIsT 6hs YD e LreflEGslg wyugmisast uppw sfubp Bsmen?
o) alensd euigeuld - &BynGrBamd erewn: 6
Q1) &l HpW - @GynGungmd eew: S
@) weoiT SiENEILLD - @GynGorGamd ereml: 4
F) elens HIMD . @GynGuonGgmD 66w |
Which one of the following is not a correct pair regarding genes of pea plant.
a) Sced shape - Chromosome number - 6 '
b) Pod colour _ Chromosome number - 5
¢) Flower position - Chromosome number - 4
~d) Seed colour . Chromosome number - 1
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o P i Porstomont
: x mm ﬁﬂm (i . .-‘a — =
' .3.: RIR21212 aisigid Wwyugm ydsld -@H;}W:ugmgﬂ
0 : i dey .
o) oL feuly - &) Wgoner Si- o genotype - aciered
What is the phenotype of wheat kernal colour for the 8 d) Light

dium red : . Ce B '
a) Dark red b) Medium dark red C)_Me.' 5 23, SIEH @yL.enL LT lrufi.
4. 9B OFeedsd gm Wiw @BEyTIIEFTAT ﬂm@;ﬁ el e S
wppb QusLT@aTS Hamsumeflsd @@y Guor@amDBETE b 46 7) 45 LHOID 4
o) 4 wppb 49 &) 17 wppib 34 @) 47 wﬂ?c and pentasomy number will be
If haploid number in a cell is 23. The double monoso;n; : 4)45 an 448
a) 44 and 49 b) 17 and 34 c) 47 an
5. eOLBamBugds eremlLBeugb! _ ‘ I
o) UsaIsWIE 2 _emene o_auip 2 uiTamip 2 W it

6 o_ulir aunep> 2L
Tt o _uifles.

&) GUHW auem@WTe 2 _emiemel LB o6l -
®) o _uyssamulsy DiFs mnmmrﬁja;su)musmwf b '60(3
%) o (ussawls Gudw wippwsLw Bid -6

Stenophagic means . food
a) The organism can survive by taking wide range of foo

b) The organism can survive by taking narrow range of food

¢) The organism can live in water with wide range of salinity.

d) The organism can live in water with narrow range of salinity. . .
6. SpaumeusTaBDIsT 6hEH &M L GUOLITHET a_swrs.qéf Frdalows SBESDSI]

Sl) UBS6TT —pl0GwIL|(L) —p BHUL LMENe) —pLI(HHS!

Q) UDS6T —p6160 —» UMDY —»BWE '

®) 2 Bihs BMESEET —plosHILIR —pEGHIL LD —IUGHS

) SHTCUTRIGET —P(PULISD —»LITIDL] —pBH10E

Which is the right representation of detritus food chain?

a) Grass —p Earthworm —p Black bird —» Hawk

b) Grass —»Mouse —»Snake —»Eagle
c) Fallen leaves —» Earthworm —» Black bird —» Hawk
d) Plants —Rabbit —» Snake—» Eagle

7. dpseiLapon Quimsd sfluter eloLmwus S

(i) eoy@amiwib - (A) b1 GQuyef
(i) weny@aETOLiTom - (B) semip2_mib
(i1i) 2iBgmevm - (O sl@Wir sumpdbans
(iv) &8y BLnGsoflur - D) sall 2 uilr yehams
@) (1) B (ii) C (iii) D (iv) A L) (i)C(ii)D(iii)B(iv)A
@) (i) C (i) D (iii) A (iv) B ) (i)B(ii)D(iii)C(iv) A
Match the following and find the correct answer
: (1) Rhizobium - (A) Water ferm
%L ; (i) Trichoderma - (B) Green manuring
o . (iii) Azolla - (C) Symbiotic bacterium

- (iv) Crotolaria - (D) Free living fungus b b _ _ ‘
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8) ()B.1).C (i) D (v) A et (2t i
9 O)C () D Gily A ) B b) () C (i) D _(iii) B (iv) A L RETTE

L . d) (i) B (ii) D (iii) C (iv)' A"
g WEBST LOSHWMD Bbs B s o (i) C (iv)

T T T T ATy

b dyusownengy, -
o) epegfiwn @) USA (oQufidan @) gpaur ) UK (@mésrbs)
Folk system of medicine is popular in | | |
a) Nigeria

& b) USA ¢India = d)UK

P . Ufley — 11/ Section - 11 Q 4%2=8
JeHBUD Hreid Qﬂm”&ﬂ'@ﬂ@ sflenLwiedbameaib.

Answer any four of the following.

GODGENST BOL D LWL EEamen S1(DEIB.

Write the practical application of activation of nucellar tissue )
@sPeoE 56 WIHpsmE CUIGEHMTEHTS s68 WLIHNHEHNIGES CAUBUBHHS
Differentiate missense mutation from non sense mutation

1. devennn IA0Tsr Cpslapempenws epsis

Write the principle of electrophoresis.

GIPHEN6 FLTNMIGELSE BTNE 2 SITammEMmeT (SIS

Write any two examples for ecological equivalents. -

QBmed UINOL eGurpgid Cryrengl. BsnE 9 2 g osrd.
Pyramid of energy is always upright Give an example for it

14. THC - ulehr @uewi(p LwieiLnBaenst sT(DHisH

10.

12.

&

Write any two uses of THC

Ufley — 111/ Section — 11 \ 3%x3=9
gBTHEID apeiip ellenTheEnEE elepLwel Seubmisd alls gTemI-1856@ SLLILIONS
eflenLWieT & eLD.

Answer any three of the following in which question No.18 is compulsory.

15. ulLnefF Gaguish @memiu@D UEUSKIL| &l S0 Ul S11DSIS.
Write about pleiotrophy gene of Pisum sativam.

16. Genem FH& WwrBPlds eeLIBGUEmEY wreney? o STemid O&Td.
What are comutagens? Give example

17. safis@s Mosumamssen CFuwels o g1 SOLUTWE SHBUHIDLILBME 6I(QSHIS.
Write the anatomical adaptations of vivipary germination

18. F@HIlY Hev @60 eI euH S CFMEUBMET 61(IDSHIH

' Write the benefits of mangrove ecosystem. .

' 19. Grpni HEUUS Hmeer @O rasH@s UGS Avbs urjbufin LUITEUESSSSETEL
oz’ alensb@Es. "
Which is the best conventional method to introduce disease resistance capacity into a plant?
Explain.

Gfley — 1V / Section -1V 2%5=10
B\DEETEMID sﬂmnéaa@éa@' allenL el BEa|ID.
Answer the following questions.

- . {ﬂ
20. @ ; ; greuy eNenHulell SiENOLIHL alleurl.
AmelsHmevH H i
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21.
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PHB — g, PLA — o L6l guiGs
Describe the structure of dicot seed
(or)

Compare PHB with PLA .

aenipulisd HISTIELHSES CFLIEHIPBEW auflsnsuLG5S!
(S16060F!)

Aupsa wpgn ey @b eI Qeusflul

efleurd).
Write the micropropagation protocol for banana |
. s of Green House Gases Emission

Discuss the natural and anthropogenic soruces
I (Bio-Zoology)

LOuGD  LeeP @evw> QMUESDAL Lyjyg

ued — 11 (e_uif-eleomswev) / Part—
(wPiGuesimsit : 35 / Marks: 35) s
Jfley — I/ Section—1I
SIMNSH NTEBEHEDHEGHID sflenL WwarflbsaLD . N |
2. GaEIRssiLLL BIeiE sloLssis Wead goUMLL slenLeows CHMHOHEss
G BLs alLwlamauid CaTdhs 6L

p—

Goliy

Answer all the questions
2. Choose the most suitable answer from
option code and the corresponding answer

—
.

Note : | |
the given four alternatives and write the

mILTOywelar (psaiemn alEEEHTDL whm SIeu b Hlaned allmBGHMDU (perpl
o)) O@ms wHDID Wl &6

1) welHe womid G

@) wrhssT WHHID el FHer

F) Waflgen Lommid L.

The primary and secondary hosts of Tape worm are respectively.

a) mosquito and man

b) Man and housefly

c) Cattle and man

d) Man and pig

BpaumeuaTeuBmIeT 61g) VL (BEHBHETMIOSSTET SMJawilD S|60s0?

3) BaufBsrdsd ) JFB 2 _Lsh sremnL AL
8) Caslulwd Gureip BFmE o I Qsneiensd F) oWt @mbsons o L
2 _(BHHIH60

Which. one of the following is not a cause for infertility?

a) Varicocele b) High body fat

¢) Ingestion of cadmium d) Tight clothing in man

gflubn Baemeamwd semBLiig
o) OpebOeviur GaerBamiGw - Apbr augEprulsy uTgliy

@) anllumgsd - B - ®6060760 SIPMA
@) HIV - elmaElw wesiewtye
F) CaengLr sevllseern - @sw aldsbd
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pind out the incorrect pair '

a) Neisseria gonorrhoeae - Affects urethra
b) Hepatitis B virus - Liver cirrhosis f
i - Enlarged lymph |
d) Candida albicans - Inflammation of heart ;

|, dpaucaeabpe Lt @8n@ionGambae Ll o_edeniowTent SaHim! a7
o) e, Gusi @meufllel L6 p_siiaT GeIGAITTD Qrsvedgud §ByRWTD erwsuBd X
@CynCuonBanib o_sieng.
weou@n X

o) ayaalsd gn Gawsdulnd X @BynGonGanupib, Qusmaiso ByeHB 0F

&GN GFmbas@pld 2_siene.
@) aisalsd @rem® Goweudd X @By 1GLTGFMDBEDLD,
GwesouGd X GCymBwiGanypld 26D
§) Guemiseied @rei® Qrwebuly X @BynGLonGe TS 2_6Nene,
QawsuGd X @BynBunBsamd Bevemev.

Which one of the following is a true statement reg
¢ only one functional X chromosom
les

Quesseiisy  @GITEWTD L

DYEMTEV PC. E LY

T

arding sex chromosomes of Mammals?

e per cell.
have two functional X —

" e T S

a) Both males and females hav
b) Males have one functional X chromosome whereas fema

chromosomes.
c) Males have two functional X chromosomes whereas females have only one functional X
chromosomes
nal X

d) Females have two functional X chromosomes whereas males have no functio

chromosome.

5. &\p@HEILUDED GuNHSHS
(i) GLiraguw HT60LD
(ii) ggegndld &IT6ULD
(iii) 1pGourenLsT &MVLD
(iv) syiBLTaldlwen &Mevld (D

o) (i) B (ii)C(iii)D(iv)A
8) (i) D (ii) C (iii) B (iv) A
Match the following and find th

(i) Tertiary period - (A)Ageof fishes

(ii) Jurassic period (B) Dominance of invertebrates

(iii) Devonian period (C) Mammals and birds

(iv) Ordovician period (D) Golden age of Reptiles

a) (i) B (i) C (iii) D (iv) A b) (i) C (i) D (i) B (iv) A
¢) (i) D (ii) C (i) B (iv) A d) (i) C (i) D (i) A (iv) B

glwmen alenLenwd STemis
(A) \Semeall &Bmeuld
(B) (pBIOsTRILUDE meuselel BB
(C) LT Ipa&6T WBEID LD
) omiTeueneUBHle QUTHBESTEOLD
&) (1) C (i) D (i) B (iv) A
%) (i) C (ii) D (iii) A (iv) B

e it
e = —

e correct answer
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' : o mm Wondershare
j ..”‘ P“‘I ‘v

- 6. QLageyns QFsdse R DIeUGUTHI &@w,é'a’ﬂ o @memiu Lot
o) gosieflsh oimeuse eloomigsafier LHSST eur.rsv S SNyEMOTEIGIDE.
Q) goenailed Smeuser guoyuifuied G U”ﬁ”'_'l gfﬂ Gumsd @MERULBASeN,
- 8) a0mefled oimeausst By Gaeede @l—‘”'“‘?mgl'_@u GO,
F) g0emeflsd oimeumet By Gasdmsit GLITED @5“-'6?
Why dendritic cells are called so?
a) Because they look like teeth of animals
b) Because they cause dent in the host body
¢) Because they look like dendrites of nerve cells

d) Because they function like nerve cells. ) . 9
) , . Flujemengl’
7. Spaumauaappe agd ohs senaleans _QLWBQED"GU uf;l; - u;) of)eir
o) U o) qulst @) @eflteluure &bS @ ol
. ’ . (0) ¥
Which one of the followings contains maximum amount of alco
a) Beer b) Wine c) Wine coders d) Gin . —_—
8. SeaumeuareummIet 1% B Gasvsen LBDBIW o—mmwwﬂ’. g”g @&6{)&,5,-1
Sl) DIEMAUBET (PSEDET CFsBe 2%) SiEVUEET LISVDID o i
. &
8) simeussit TRUTLLWITG QFebssit  F) Sieeudmst WIDILTE LS -

Which one of the following is not true regarding stem cells?

a) They are totipotent cells b) They are pluripotent cells
¢) They are undifferentiated cells d) They are differentiated cells.
Ufley — II/ Section— II 4x2=8

JeB@ID BreE el & e, allenLwisfldb ey
Answer any four of the followin g. :
9. tRNA -m, @wmeansds Camsiianid (pevdanm aam 66 BMD enPSEBBTIH?
Why do we call tRNA as a adapter molecule?
10. Bralg  euems  WBAWLTESmETE GPILI6, SwuBPbsTeaT Grmuis  smyenfismenyb
GHUIBs.
Mention the four types malaria and their causative agents.
11 QL mrerdmdlery - GUENTLLI.
Define metastasis.
12. Cpmysdamen o ulfwg drefen Wl L BUBSHSIS 60 Daugaie uBidamen sigEis.
Write the role of viruses in biological control of pathogens,
13. Benewm DTUBGIICLTSHED 61GITEY 6redien? 2_SMewih Qasn(,
What is coextinction? Give an example
14. Qabgyear UsaaD 8 euensiTen b enmisenen Q_ﬁlanLeiseﬂuJ@
Red list of Red Data book consists of eight categories of species. M

; Uifley — I/ Section — Iy 3%3=9
ToBDID WAw alomnssense sie we Bflet S :
.Qﬂm_u_mﬂe‘s&ﬁugfb. i SIOUDDED - el TWI-188@ s Lmnwors
Answer any three of the following in which questjon No.18 js compulsg
15.  ureden BeOumESD, LTedsl BIUIOLGESHmE 6 G, v

. = DUCLg eair?
Why sexual method of reproduction is better than asexual Teproduction?
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18

9.

21,

16 - eeedl BLTEf, seolefobgiar GpTLiLmLwET? s_mg el s ST ==

Js phenylketonuria related to albinism? Give reason for your answer.

LflemTDGH0 WILEDI GLLD asiug @O aedmiowrer o olab@®. ereiseun?

Gene flow can be a strong agent of evolution Explain how?

s OMeled @bHIEAS PCR Opnfepupmy asnnm UGBS BT

How can we utilize PCR technique in the ficld of forensic medicine?

@pHuneled, s1@@e UG Gueriteic LkiG up Ap GOOY QDS

Write a brief note on the role of woman in conservation of forest in india.

N _ Ifley — 1V / Section -1V
Sp&HTEID SNaTSHEHHG el WefdBama|LD.
Answer the following questions.

uLsPe o_geluar alhsssbHe o enanemiolieny aleeG®
(SI6060F!)
HGP — uler £ uGunasmise WDEHID GBTHTE0EF geurevamen UBYl e1(DBIB-
Explain the anatomy of testis with the help of a diagram
(o)
Write about the applications and future challenges of HGP.
Loyl QUIT(RHL_BETE  LIEWIL|HED6T aleurd)
(S160605!)
o wWigmm smyelsEéEd® — gou, o Wfisen  UeOGaIDI FHICUBIBEVBENETT
QeusilaT._ BB SIEUDOD alleund).
Discuss the properties of genetic material
(or)

Discuss the various responses of living organisms towards abiotic factors.
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‘

orglft - ellewmggnsir 2019 - 20 / Model q“";ewn dary Second Yea"_r
Cuwsiplensy @yesiimb ayem@ / Higher Se i :
' & _uifiwe) / Biology
(B0 wppib gyhdeob e / Tamil an

B ey @ 15 Pl missit + 3.00 e
Time Allowed : 15 minutes + 3.00 hrs

B PSRN 2

nglish Version) ' -
o QTP WHUCUIE "
Maximum Marj o

= it it o

, sienBT SIS Elunyg,
Sloyas : 1. oy clonsnan sl s 2 eziwéb m"”mm““"‘“m% |
Qusréiteneib. osiugeler  @mpuIEUIs °

2_LAIQWIng GgHMeldseab. o . - g
2. B (oisbevm) B enoufena oL BELD ﬂ@@;?g}f}ﬁmiﬂ@zgwm@@wm@m |
LWeILGEHS Couemi@d. LLmissil aEnFaIGDE OIS

; rat If there is any lack of faimeg,
Instructions : 1. Check the question paper for fairness of printing. I 35,

inform the Hall supervisor immediately. _ _
2. Use Blue (or) Black ink to write and underline and pencil to firaw d:flgrams,
GURTERTCY I (2 uifl-srauyelwsy), ugd — I (2 ulf-elleomdlusd) HolldbsHeai
sllsnL_ gz meflsy sllsmL wer & sayib. '
Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in
S€parate answer-books.

UGS ~ 1 (2_ulfl-sreuysiwev) / Part — I (Bio-Botany)
(oBQuemtssit : 35 / Marks : 35)

Ufley = T/ Section—1 8x1=8§
GULY : 1. Sienenbs &Ml6MT &b (615 5 5 L sllenL_weié s

Car®assiiue L BTeil@  ellenL aefsd l&ab
GO BL 6 sdlenLulenemmu b CaTHmI s11p8
- Answer all the questions

. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

L 2 pomé dpmids sanssit s GELILLuGeug
3) GauBriL Qo Béasst <) Cawmem OLOTL_ [ dsassir
@) mefl Qi Gabassi F) @il g Oom’_ Haeir
Eyes of potato are referred to
| a) adventitious roots b) axillary buds ¢) terminal buds d) intercalary buds
| $f>“@£$“l§%5§§”’&$f$§ﬁ$ BB LG G UGEDE, geemafed
&) Ba sLELUTLTen GIDBlensoulsd eref]
8) @ utgisriy 1és o ulflemb
) Seney DIEME HFHID
E.Coli is the mostly used org
a) It is easy to handle.

2

eJMLemL L aﬂeml_smu_lg's Gg,h_rjr,@g,@g‘,g

5.
Note :

[ o= I

B6d sueniramg,.

anism for gene cloning, becayse

b) It is growing easily under optimal condition
¢) It is the safe organism

- d) All the above.
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QauDLBS siime. 2 geluleimed piedigguuli oS0

:‘ -_.- A o . L mm Wondershare
3 wp@l ') b Lllsmistt, Quitseh @By A

smemid (R) : Biesignuli B i 3 :
e Y BesD Qeuieugne, wpm pengpulissn oibs U6 pa1L BHHE0
o) (A) &f; (R) seum
&) (A) sag; (R) &
@) (A) wppd (R ; .
elsmwu.milei)&mm), Bre@eo &fl, quemed (R) asiugl (Aybsran aSSONS
A) wbmi At ;
) '( .) oppid (R) @reaGeo &l (R) asiug (A)bore aembsons HMOHDE.
This is the pattern of question

;:ZS;;I‘;(:’O:(I&A). : é['hc. “:xplf?lnts are sterilized by mercuric chloride.
edinm ) : Sterilization prevents the growth of other micro organisons in the Culture

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct

¢) Both (A) and (R) are correct; but (R) is not the explanation to (A)
d) Both (A) and (R) are correct; (R) is the explanation of (A)

4. snsteonseie, sflalusd sfeae, el GaLMLHMIEES sriusr ey 9
BT gﬁ@fm‘ﬂ&mﬁl HHASBT BIDES H16wID '
o) @eMsBsidbmaseld HTHHINEGW @enL_BuiuTen FLOMHENE0 urdlésIu@eTeIS)-

21) sreumss WaNefelGhE! 2-Hehad Qaws(pemD LTS dBHLILLBETENS.
@) ofgaly gelullemsd seaures GFWPD undéEIUL BETeS!-
%) sriuen GFALY ereTUDI yel QeuiLiosoL HEIHE 9B Bire)  SiV6V.
Now a'days, scientists suggest carbon sequestration is a solution for global warming. The
reason 18
a) The balance between photosynthesis and respiration is disturbed
b) The absorption process of plants from the soil is disturbed
¢) Due to high intensity of light respiration process is disturbed
d) Carbon seq uestration is not the solution for global warming.
5. mmienw GDUTH GF s L SIS @& GesTeTEs
D) SIUTWES]TLOTE aumelensy DTHIBSHMSS SBUUSI
2y) LG FE060 SUTUE BT aiafiwaLeosdsh Geusuii LuBeams GMDLILGEI.
3) (o) wHpD (L)
#) 10engmy 2 _puBHs LD
The objectives of clean development mechanism are / is
a) Prevention of dangerous climate change
b) Reduction of emission of green house gases.
¢) Both (a) and (b)
d) Reduction of electricity generation and its need.

6. Bpaumamsubpe b QeI LI EREDE (N, Besoppssid sl o uif 2i60607
o)) oeienm o@FTEN ab) osGLUTELT @) denmeroigflun 7)) HIEOLIS

Which one of the following is not a free living N2 fixing organism?

Ej,}' % a) Anabaena azollae b) Azotobacter ¢) Clostridium d) Nostoc

DD DIBHET BaHmEUHEMETIS GMBLUUG
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4 Camofetien
) { 5 mm Wondershare
. , ®  pPDFelement
mw JE0 : P ;

T (A Iﬁur@wrr&.-_eml_ BbHuwrelsd aENED -
(B) Guisens Ops BpFwrelsn een®P I
e o) (A)—gasmb ot ey

(B) — g&@ny urtGud
&) (A) - gsstp unir@ul
(B) - sasmyb ol .Ldleamyd
@) (A)-sasmbd GamurdGLLLD .
(B) - séamb HiBoneudbE@NGWTLLD
) (A)-sdmmb oBor QubE@ABLTLD
(B) — gd@mnyld GamuidGELLD
(A) was originally grown in North India.
(B) was originally grown in South India.
a) (A)- Saccharum officinarum
(B) — Saccharum bareri
b) (A)- Saccharum bareri
(B) —Saccharum officinarum
¢) (A) - Saccharum coarctatum
(B) — Saccharum alopecuroidum
d) (A) - Saccharum alopecuroidum
(B) — Saccharum coarctatum
8. OB s s eiensllsd LUIALOUED FOUT STEITLD

Sl WIRNaBT  FTe0EHEILT 1) L OLBED ETEVTETVIQET
@) enfellwr QueiisTdwimenT ) afagwr LIGydlsdwsienisid
The very common rubber yielding plant of tamilnadu is
a) Manihot esculenta b) Ficus elastica
¢) Hevea benthamiana ~ d) Hevea brasiliensis
Uifley — II/ Section — IT 4x2=8§

JeBaD B elamesEnsE il wiefldsayLb.
Answer any four of the following.

9. el CallLasdhsrarsdnen Quesk Gl L &8 STUISHBGL @B o_sien
CoupunGessit @yeasigenar siapses. '
Write any two difference between male gametoph

10.  wyugmy SUIUL S0 6lsueum) BLLMDESBETID?
How to construct a gene map?

1L urdl euf o_uif) QT i (emauL_ iy

yte and female gametophyte

23601 SWnAiiges Ulehrarenilusiy o_6iten  Geugufwensy

Write the chemistry of biological hydrogen Production by g]
2. 90 smeuy Ogsvadsnr Qasp GOUD]  e6UOUTMI (Shesevmp? dea
How to remove cell wall of a plant cell? :
13.  wemevsersir WIsCHTH e16mTsy sreiren?
What is known as tree line of g mountain?
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|

I5.

16.

18.

19

apsImD Gouemmenir 4
What is the plan of third

— Iey —
gBBRID WD e fley ~ 111/

&3 (Th &
sl weiéaseayb, DES elleniwen

Answer any three of the followin

WEGWL Sreuy SHOIMIGIH Hew
Write the three fusions of Angio

Bomem YR Haeenio SI6TLIg,)

Agriculturg] Revolution 7 i _ g |

mm Wondershare

H  PDFelement

|
Section -~ [11 3%3=9 !
OUBRS eflenn eres- 186 mr Lo

g in which question No.18 is compulsory. |
LOuynp APl BememmBsomansn S119HIH i
Spermous plant fertilization. %

@87 WyLIgR @6 E - _—
@ 2_SIyewibd sTseuT? WSGECeH D Bené QF WL B EHbHHTEN

Codominance is an example of intragenic gene interaction How?

@smwwren Uenewmiiiy 1o

DOIL Wpemow
Coupiun@senen SUDGIH

. Bubenas Beustresiento fISILG BUIBmBEH

BUnIGaSTES eGHULGEDE. Qsmen allmses.
Organic farming is considered as the movement towards the philosophy of Back to Nature.

Explain.

. Wifley — IV / Section =1V 2%5=10 P
BPEHETEID eleTdsEnsE el welbsab. :

Answer the following questions.

Write the differences between coupling and repulsion.
Bleneowimen Geusnmes Sl ®mHa asimTed s6en?
What is known as sustainable development of agriculture?

OB Usmemiy Gemfbdsm Cu »_sier

@5 DELUSD G HHHIUSMS CHTHE

T T by TR T ——— .

P G

2. 9 YbGL HTaIsden CrdHs anpsms &PEDFmW 6 lESUULITSS SHHb.
(S1606051)

2. @m GPwsd DS 608560 QeuliubHesd gHUBLD HToSRIGMEL umBnl SIS,

&MeNHCBME060 ETHITILIHSHHMIML §(h
DIENIFnEVRIEEET  6T(LDSDISB.

Summarise the whole life cycle of an Angiosperm plant in the form of schematic diagram.
(or)

How to introduce herbicide tolerence capa

(ol

Write about the influences of temperature

Pyramid of numbers can be upright and in

DBemey eI eokiselsy aETIEHISEmE WAl GEITENE WHDID HMEVSPTENDI.
= ; . :
@sICauTETMDUD PIT 2 ST HHIL-6N oG .

HTUTHSI@IET 6T6UaUTD LGSDHIuHI? SiHei

city into a plant? Write its advantages.

6080%I)

in an ecosystem.

(or)
verted, Explain it with an example each.
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12

. Wondershare
11 (Bio-Zoology)
art— T T

ug® — 11 (e_uif-efeomaiwed) /P . 35)

(oPuGuakims : 35 / Marks
dfley — I/Sv;:clicm—lLb
SiehsH allendsweyd @b afenLie&&6] . Gﬁm_mm&, @g)ﬁm%ga

8){1:_-8

@GPy : 1. . .
2. GEIBESULLL pisig slsLssfsd Wmald T0
GOUILELS el ulsmanyb Goighpl 61RBID:

Note : 1. Answer all the questions lfo-ur TP gy

; ivel
2. Choose the most suitable answer from the g
. . wc[’
option code and the corresponding ans . ;
k B wpmid 0) «@U@.@QIGU)EBQ,Q'T

; : S
96 BUBUGEG Uppd BeIE @wg;,mg,&.mﬂm: - B,am_lll seeneuTe EBHS(pguyh
STEULGHIVR. SUILIGOWRTIeD SighFbugwitaseie gfGent %) [O1OXTATP '

AO BID
&) PIxIB® &) O @ I'xl
ould be the Genot
Four children of a couple have blood groups A,B AB and O. Wit YPe of
the parents? ek
a) [:\l.-\x]BlB b) [,-\lOXIBl,\ C) IAIOXIBIO d) IOI xI

wiigala ufisomo euenitgdlullsr sfwrer auflens 6117 o

) Capmiaie— GamiGuor Camiiefe —> GamrGlom EIT&L eV
> BawnGuor Frifweia.

&) GamtGuor Gamiedery—> GamnBur syéLad—> Cammiei®
— Baw@uwor FrUNweTa.

8) GamtGuwr arsLed—> CamrGur GamLilalerd —> Gamsmieih
— BapnGuwr snifwsre. _

) GamtBur Gamledad — GammAsip—> GapnGur eyaéLerD
— GamnCGur  sriiIfwerem.

Which ia the correct order of human evolution?

a) Hominid—*Homo habilis —Homo erectus™>Homo sapiens.

b) Homo habilis —>Homo erectus —>Hominids — Homo sapiens.
¢) Homo erectus—>Homo habilis ™ Hominids — Homo sapiens.
d) Homo habilis—Hominids—Homo exctus —>Homo sapiens.
Spaumeueneudmist aig Ffwmp Senem?

o) Puufids gneselunsd - Qe F

&) sibwrdlerd - 6ll® m
@) ®neor eygnir - awIe &4
#) 1Gsuflwn - gLen Qsms

Which one of the following is not a correct pair?

a) African sleeping sickness - Tsetse fly

b) Amoebiasis - House fly

c) Kala azar - Sand fly

d) Malaria - Aedes mosquits
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Wondershare

PDFelement

it Sllﬁﬂffé‘éﬂﬁmu_la;a h&ﬁl‘_@u : ng g@iﬂ UGN &
0 BRSO gy gD Uebmad

) @ULGL_WUQ,@Q,WQW U
@) GU)LIFﬂ@(EGI}IﬂUJ[r @Gﬂ)ﬂ{gﬁf n
F) Siamflasern tg&LbUS‘blquﬁ) : ,

To control the growth
- of strangular vine in o
a) Bacillus thuringiensig R g

b) Phytophthora palmivora |
¢) Pyricularia orizae
d) Agaricus campestris ;

5. pGsitdenas Be . .Quyne G g
: s CSougter o mug s ® . : : _
FDHS5I. 85065 @myemb BUSHEE 61.CamemaenaiL FrobaCrranndley GaialdGuw

SO\ Geumyy

mycoherbicide is obtained from

o) 61.8amensoulsn OLMEMS sy GOHDL SiMLWMeIEGD BWHEGSmD Bsvenso.
aY) F1EEC) e QsfelldBw, rDNA o jusdses Caemeuimen BWHIEG HeN&HMBHH
O 6w B6iteng;).

8) Yrshismens FroamIGUBDD MW Mmoo CHmanLTar BULIKIEGSID
o1.Cameneoulsh Esuemey.

F) Gsrumu siésorGubpd oemiw MeUbEH Chmaurel GUIRGHMD o.BsTems0UTsd
Esvemev.

Saccharomyces cerevisiae is more suitable for the production of recombinant interferons than
E.coli. The reason is

a) E.coli does not have machinery for glycosylation of starch.
b) Sachharomyces cerevisiac has machinery for the synthesis of tDNA.
c) E.coli does not have machinery for glycosylation of proteins
d) E-coli does not have machinery for glycosylation of fats.
6. SaumHeuateubmieT 6% Gepeauliu CaugurGerw 2 ulflend?

3l) B <) Lsd @) welizsi F) @enme
Which is the stenotherms from the following? ,
a) Dog b) Tiger c¢) Human d) Lizard

7. apm (A) : @pPwm, o _euahdeo 2 aten 17 Walicuflw o uifw useumsd saiemo
Qe BHTH&6TE0 el

amend (R) : @hdwuraler Ual Sy o uiflomisense BEaD gBnsTe o 66
a) (A) &f; (R) seuml

o) (A) seug; (R) &l

@) (A) wpgo (R) & (R), A-eow oeN& &S BEI.

® (A) wpge (R) sl (R), A-ow 6l 6118 sDEMED.

Assertion (A) : India is one of the 17 Mega bio diversity countries of the world.

Reason (R) : India’s geographical location is most suitable for the orgarisms.

a) (A) Correct; (R) Wrong b) (A) Wrong; (R) Correct

¢) (A) and (R) correct and (R) explains (A)

d) (A) and (R) correct and (R) does not explain (A)
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: mm Wondershare
ik H  PDFelement

8. BT reEPULG aeh 200 - @HOIGYE
- Sl) WTFDD BHLO STHDI
Q) GODHS a6y WIGFMLW STDHD
®) Gursoten saETHMH CoE lammals®
F) SRGHHL LIGHFHLW STHEI.
Air quality Index number 200 denotes b) Moderate,

n ST

low level pollution.

a) good, no pollution -y ollution
¢) Bad, unhealthy pollution d) Haz |
4%+
dfley — 1/ Section — 11 2‘3
98sgub BreE elambsensg el weilbsail:
Answer any four of the following. e

9. Y - aniphs WOFLIGRISHEET  Een 6w ‘9|6i36\36ﬁ&55ﬁ @Gbm”g)msu
Y - linked genes are non homologous why?
10. @6 wugy — gm OBTEH CaT uTL ML FaDib.
State one gene — one enzyme hypothesis _
1. @efl g@Gurs PET Gpaifasr spmiapme wrsiuGsad
Pet plastics are no more environmental hazardoxs substances. Why?
12. @efl$EneRiLed Qussid eamreD eeaier?
What is known as photokinesis? ,
13. pleevseisn Qaliu S|Bsdmens sTailld@Gd UL 6ImJSD.
Draw the diagram showing thermal zones in cold water bodies
14. flena o eweylLdBlenen eeleuny sLBUUBHS0MD?
How can we control eutrophication?

QuUTmETTS BHEBTSE gair)

Uflay — 111/ Section — III ' 3%359
gesud wan elambsense slamLwel Sisubsd el etam-186@ SLLIWWLTS
sllenL Wl aaiD.
Answer any three of the following in which question No.18 is compulsory.
15. sufurelied perLGUEID LeTaTey WPMDEGD BT © (meuTdHLD (popsEh Qe Gl
2_siten GaumiLmBEemen 611DHIS.
Write the differences between multiple fission and sporulzition in Amoeba
16. ualdGLd gmeniy aesunm CeuiLGEpE?
How to do amniocentesis?
17. s e pusduller GuomPouwingsed mlsiballs Bumg
(DBIS.
Write about the third phase of translation in protein synthesis,
18. wefly eueniéd amniGuomes 2_Budbduils LBeneosey
Give schematic representation for the production of hu
19. Ampflents uedeumBESBMOWIST cipeiy SIbFRIET |y
Write about the three indices of species diversity.

BOLEUDID apsimmd Hemeoemuil Ui

Mman growth hormone.
maﬂ (D &I,
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mm Wondershare
E pDFelement
— U

)

Afey - 1V / Section =1V 2

BpHETEID elenTbsEmse el welldmab.
Answer the following questions.

20. wAlPEAD BOLOLDID  H@MDIESO  pIb MG Lenppeo  QEWeLEHEET F(HHBNE
aleN& G 5.
G (DI6LEVHI)
GOPEOELD  seILfpedsn, Gjms opdie  GEMASHLUSAN UG  BaTeES
Bweorspgl. alend@s eeeum?
Briefly explain the mechanism of fertilization and implantation in human beings.
(or)
minal activities Explain how?

Fingerprinting technique is inevitable in the detection of cri
s BB eSS S-

2. Buiesd Gsiay Gariuiligomem alab@D FHHETLHHL
(S16060%1)
UBaum  euens  Buwedy BpmiisgeLd  STOLY UBHMETUD DD (AEICVEICITS |
(penpaenenud afleurd. |
Explain the modern synthetic theory of natural selection
(or)
Discuss the various types of innate immunity and their functionin

g mechanisms.
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